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Which of the following will be considered key teaching 'repp
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behaviour belonging to the category of effectiveness?

a) Making ideas clear to learners who may be at different level of

understanding

b) Showing enthusiasm and animation through variation in eye
contact, voice and gestures

c) Using student ideas by acknowledging and summarizing

d) Probing through general questions and shifting a discussion
to some higher thought level

e) Using meaningful verbal praise to get and keep students
actively participating in the learning process

Choose the correct answer from the options given below

1. a), b) and c) only
2.a), b) and e)

3. b), ¢) and d) only
4. ), d) and e) only

Options:

SJB3862115901. 1
JEIEE2115902. 2
Seoae2l15903, 2
SB3862115904 4

Question Number : 1 Question Id : 38386229729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. ®dd (a), (b) 3R ()
2. &ad (a), (b) 3R (e)
3. &ad (b), () 3R (d)
4. &Had (d), (d) 3R ()

Options:

SJB3862115901. 1
JEIEE2115902. 2
Seoae2l15903, 2
SB3862115904 4

Question Number : 2 Question Id : 38386229730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the sequence which correctly indicates the order for
ensuring teaching-learning activities in a constructivist approach

1. Explore, Explain, Engage, Extend and Evaluate
2. Evaluate, Extend, Engage, Explain and Explore
3. Explain, Engage, Explore, Evaluate and Extend
4. Engage, Explore, Explain, Evaluate and Extend
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Options:

JE3862115905 1
IJE3E62115906. 2
Seoae2l15907. 2
SB3862115908. 4

Question Number : 3 Question Id : 38386229731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following factors have been labelled as 'social
competence' in influencing learning?

a) Socio-economic status

b) Motivation

c) Intelligence - general and specific

d) Emotional well-being

e) Inability to translate thoughts into action

Choose the correct answer from the options given below

1. a), b) and c) only
2. b), ¢) and d) only
3. a), b) and d) only
4. ¢), d) and e) only

Options:

SJEZEE2115909 1
SBZ862115910. 2
283862115911, =2
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(a) IS Gl

(b) TRO

(c) SIS - FruRoT R ARy

(d) TS TR
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1. (@), (b) 31 ()
2. (b), (0) 3R (d)
3. (a), (b) 3 (d)
4. (c), (d) 3R (e)

Options:

SB3862115909 1
SBZ86e2115910. 2
SB3862115911. 2
JE3862115912. 4

Question Number : 4 Question Id : 38386229732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The compositional skills and creativity in presentation of
students can be most effectively evaluated by which of the
following tests?

1. Objective type tests
2. Essay type tests

3. Short answer tests
4. Projective type tests

Options:
JE3862115912 1
282862115914, 2
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Options:

JB38621159132 1
J83862115914. 2
Seoae2l15915. 2
SB3862115916. 4

Question Number : 5 Question Id : 38386229733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The main purpose of using ICT for classroom teaching is to

1. Make the classroom instructions interesting
2. Divert students’ attention in the class

3. Keep students engaged in the class

4. Optimize learning outcomes of teaching

Options:

SJBZEE2115917. 1
SB3862115918. 2
283862115919 =2
JEIEE2115920. 4

Question Number : 5 Question Id : 38386229733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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following is the usually recommended sequence?

1. Plan, Act, Observe and Reflect
2. Observe, Plan, Act and Reflect
3. Reflect, Plan, Act and Observe
4. Observe, Act, Reflect and Plan

Options:

JB3862115921. 1
JE3862115922. 2
Saoae2ll15923. 2
SB3862115924 4

Question Number : 6 Question Id : 38386229734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

JE3862115921. 1
IJE3EE2115922. 2
SB3862115923. 2
SB3862115924. 4

Question Number : 7 Question Id : 38386229735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match Set | with Set Ii prepp
Set | Set I
(Research Tools) (Measurement Scale)

a) Questionnaire and Interview |i) Ratio scale of measurement

b) Intelligence and Aptitude i) Ordinal Scale of
Tests measurement

. iii) Interval Scale of
) Attitude and Value Tests
measurement

iv) Nominal Scale of
d) Speed and Frequency Tests W) Biniminal Stalea

measurament

Choose the correct answer from the options given below

1.a) - i); b) -ii); ©) -iii); d) - iv)
2.a) -iii); b) - i); ¢) - iv); d) - i)
3.a)-iv b)-idii); ) -ii)d) - 1)
4. a) - ii); b) - iii); ©) - i\; d) - iv)

Options:

SB3862115925 1
SBZ8E2115926. 2
SB38E2115927. 3
JE3862115928. 4

Question Number : 7 Question Id : 38386229735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. (a) -(0), (b) - (ii), (<) - (i), (d) - (iv)
2. (a) (i), (b) - (i), (c) - (iv), (d) - (ii)
3. (a) ~(iv), (b) - (iii), (c) - (ii), (d) - (i)
4. (a) (i), (b) - (iii), (c) - (i), (d) - (i)

Options:

SBZ8E2115925 1
SB38E2115926. 2
SB38E2115927. 3
SBE3862115928. 4

Question Number : 8 Question Id : 38386229736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A college teacher presents a research paper in a seminar. The
research paper cites references which are pretty old. This
situation will be described as the case of

1. Technical lapse
2. Ethical lapse
3. Academic ignorance
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Correct Marks: 2 Wrong Marks: 0 'rep
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Options:

SJBEZEE2115929 1
SB3862115930. 2
SB3862115931. 2
JEZEE2115932. 4

Question Number : 9 Question Id : 38386229737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At the stage of data analysis, in which quantitative techniques
have been used by a researcher, the evidence warrants the
rejection of Null Hypothesis (Hj). Which of the following
decisions of the researcher will be deemed appropriate?

1. Rejecting the (Hp) and also the substantive research
hypothesis

2. Rejecting the (Hjp) and accepting the substantive research
hypothesis

3. Rejecting the (Hjy) without taking any decision on the
substantive research hypothesis

4. Accepting the (Hp) and rejecting the substantive research
hypothesis

Options:

JB3862115933 1
JE3862115924. 2
JEZEE2115935 2
SB3862115936. 4
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Options:

SJBEZEE2115933 1
SB386E2115934 2
JE3862115935 =2
JEZEE2115926. 4

Question Number : 10 Question Id : 38386229738 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If data has been recorded using technical media, which among
the following is a necessary step on the way to its interpretation?

1. Transcription

2. Structural Equation Modelling
3. Sequential Analysis

4. Sampling

Options:

SJBZEE2115937. 1
SB3862115938. 2
JE3862115939. 2
Saoae2115940, 4

Question Number : 10 Question Id : 38386229738 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 11 Question Id : 38386229739 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Successful educational communication is dependent upon the
skills of

a) Understanding the negative characteristics of the audience
b) Verbal communication and body language

c) Estimating time for audience impact

d) Analyzing the audience needs

Choose the correct answer from the options given below

1. a) and b) only
2. b) and ¢ only
3. ¢) and d) only
4. b) and d) only

Options:
253882115941, 1

SBE3BEZ2115942. 2
SB38E2115943. 5
SE3862115944. 4

Question Number : 11 Question 1d : 38386229739 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 12 Question Id : 38386229740 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following will help overcome communication
barriers?

1. Focused listening

2. Neglecting semantic noise

3. Top-down command structure
4. Use of clichéd idioms

Options:

Saooe2l115945 1
SB3862115946. 2
SB3862115947. 3
SB3862115948. 4

Question Number : 12 Question 1d : 38386229740 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

JE3862115945 1
JEZEE2115946. 2
SB3862115947. 2
SB3862115948. 4

Question Number : 13 Question Id : 38386229741 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective educational communication is
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Question Number : 13 Question Id : 38386229741 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

SJBEZEE2115949 1
SB3862115950. 2
JE3862115951. 2
Soooe2l15952. 4

Question Number : 14 Question Id : 38386229742 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following theories can be applied to classroom
communication?

1. Theory of Social Constructivism
2. Audience Marginalization Theory
3. Ritualistic Theory

4. Theory of Hegemony

Options:

SJBEZBE2115953 1
JE3862115954 2
JEZEE2115955 2
SB3862115956. 4

Question Number : 14 Question Id : 38386229742 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 15 Question Id : 38386229743 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one is labelled Assertion (A)
and the other is labelled as Reason (R)

Assertion (A): Pedagogy and social interaction are two major
result-oriented activities of a teacher

Reason (R): Communication has a limited role in both these
activities

In the light of the above two statements, choose the correct
option from those given below

1. Both (A) and (R) are true and (R) is the correct explanation of
(A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A) is true but (R) is false

4. (A) is false but (R) is true

Options:

SJBZ8E2115957 1
SB3862115958. 2
JE3862115959. 2
JEZEE2115960. 4

Question Number : 15 Question Id : 38386229743 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SB3862115960. 4

Question Number : 16 Question 1d : 38386229744 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A circle has the same area as that of a square of diagonal of
length 11.0 cm. What is the diameter of the circle?

1. ~ 8.7 cm
2.~ 174 cm
3.~ 7.8cm
4. ~ 15.6 cm
Options:

SBE3B8E2115%961. 1
SE3BEZ2115962. 2
SB38EZ2115963. 5
SEZ862115964. 4

Question Number : 16 Question 1d : 38386229744 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Udh g &I &AW Ia-T ¢ ford=1 11 Ul [admof awars ard o &1 81

g ol M fdaH1 & 2
1.~ 8.7 99

2.~ 17.4 UHI

3, ~ 7.8 9HI

4, ~ 15.6 YHI
Options:

SB3862115961. 1
SB3BEZ2115962. 2
SEZBEZ115963. =
SE38621153964. 4

Question Number : 17 Question Id : 38386229745 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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SEZBEZ115966. 2
SEZ86Z2115967. 35
SBE3BEZ115968. 4
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Question Number : 17 Question Id : 38386229745 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fafifad gEar o x &1 99 Hulia sifee
2,9, 20, 35, 54, 77, 'X'

1. 104
2. 102
3. 89
4. 110

Options:

SJBEIEE2115965 1
JE3862115966. 2
JEZEE2115967. 2
SB3862115968. 4

Question Number : 18 Question Id : 38386229746 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A student obtains overall 78% marks in his examination
consisting of Physics, Chemistry, Mathematics, Computer Science
and General English. Marks obtained in each subject and the
maximum marks are indicated in the following table

g General
Physics : . |Computer .
Chemistry |Mathematics|_ . English
Science
_ (200
Subject (100 max |(200 max (100
max (200 max
marks) marks) max
marks) marks)
marks)
Marks
e 155 20 165 140 X
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Options: 'repp

SBE38E2115963. 1 Your Personal Exams Guide
SEZB6Z2115370. 2
SEZ8621153971. =5
SBE3BEZ11597Z2. 4

Question Number : 18 Question Id : 38386229746 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3P 2000 3D 100) 3fd 2000 3P 100)

el 155 80 165 140 X
3

B GRI 3FEE () DT 518 fad-1 3 B

1. 68
2. 74
3. 84
4. 90

Options:

JE3862115969. 1
JE3862115970. 2
Seoae2ll15971. 2
SB3862115972. 4

Question Number : 19 Question Id : 38386229747 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A shopkeeper sells a refrigerators for Rs 22,000.00 and makes a
profit of 10%. If he desires to make a profit of 18%, what should
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SB3BB2115976. 4

Question Number : 19 Question 1d : 38386229747 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U gohHGR - Iiheitex 22000.00% H &9 3R 34 10 Hid¥d 1Y
g3l gfe 3 Mpeivex IR 18 Ufer=Id o o1 8l di 98 I9 foa= |
CERIE

1. 23,600 %
2.39,600 %
3.36,000 %
4. 24,600 %

Options:

SJBEIBE2115973 1
JE3862115974 2
IJEIEE2115975 2
SB3862115976. 4

Question Number : 20 Question Id : 38386229748 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The two cities P and Q are 360 km apart from each other. A car
goes from P to Q with a speed of 40 km/hr and returns to P with
a speed of 60 km/hr. What is the average speed of the car?

1. 45 km/hr
2. 48 km/hr
3. 50 km/hr
4. 55 km/hr

Options:
SE3EE2115977. 1

SB3BEZ2115978. 2
SBE38EZ2115973. 5
SE38621159580. 4
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1. 45 fodt / ufd ger
2. 48 fodt / ufq der
3. 50 fboddt / af der
4. 55 foodly ufd ger

Options:

SJBIBE2115977. 1
SB38E2115978. 2
SJE3862115979 2
JEZEE2115980. 4

Question Number : 21 Question Id : 38386229749 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
"Mr X lives in a slum and is unemployed. Therefore, Mr X
deserves to be a minister.”

Which kind of fallacy is committed in this argument?

1. Fallacy of Composition
2. Ad misericordium

3. Fallacy of Division

4. Fallacy of Accident

Options:

JE3E62115981. 1
IJEZEE2115982. 2
SB3862115983. 2
SB3862115984. 4

Question Number : 21 Question Id : 38386229749 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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SB3862115984. 4

Question Number : 22 Question 1d : 38386229750 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is not a necessary step when you present
an argument based on inference before the others according to
the Classical Indian School of Logic?

1. Nigamana
2. Upam@na
3. Upanaya

4. Udaharana

Options:

SJBEZEE2115985 1
JE3862115986. 2
JEZEE2115987. 2
SB3862115988. 4

Question Number : 22 Question Id : 38386229750 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafeiRad & U B - 1 31a%g% @01 6] & &id 1Y gidd &1
UG IR WU & SR GURI & YHE SHHH SM1e1Rd gfdd
I Ded 87

1.
2. 3UaH
3. 3Ug
4, \JeoXU[

Options:
SE3E62115955. 1

SB3BEZ2115986. 2
SB38EZ2115987. 5
SB38621159588. 4
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Consider the following with reference to the Indian School of 'repp
Logic

a) It is related to form of the argument only

b) It is related to the content of the argument only

c) It is related to perceptual knowledge alone

d) It is related to presenting analogies alone

Choose the correct answer from the options given below

1. a) only
2. b) only
3. Both a) and b)
4, Both ¢) and d)

Options:
2E38E21159859. 1
JEZEG2115990 2

SB3862115931. =5
SB3862115932. 4

Question Number : 23 Question 1d : 38386229751 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
dd &1 HRAIY AR W & YeH H FHifeod W fdar Sife
(a) T8 Dad giad & 30 ¥ Hafid &

(b) T8 9T gigd o faug -aeg ¥ Tefid @

(c) I8 draa WIiEd 94 4 Yeid §

(d) T Had re=d UR(q I TdfUa §

=id 9 wel fadey T :

1. ®ad (a)
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Question Number : 24 Question Id : 38386229752 Question Type: MCQ Option Shuffling: No Display Questim'lﬁetppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

The converse of "All cats are mammals” is

1. Some mammals are not cats
2. No mammals are cats

3. Some mammals are cats

4. All mammals are cats

Options:

SJBEZBE2115993 1
JE38621159394 2
JEIEE2115995 2
SB3862115996, 4

Question Number : 24 Question Id : 38386229752 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tl fafcag Rl & s uRafdd aaa &

1. B8 YR fafceral 981 |
2. By Hl WAYR] fafcaat 781 &1
3. 98 WHYRT fdfei 2

4. vt TR fafeeai €

Options:

SJBEZEE2115993 1
SBZ862115994 2
SJE386211593% 2
JEZEE2115996. 4

Question Number : 25 Question Id : 38386229753 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the statement "No dogs are reptiles”, which terms are
distributed?

1. Only subject term
2. Only predicate term
3. Both subject and predicate terms
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Correct Marks: 2 Wrong Marks: 0 'repp
HYT "Pd WIYT TR BId © * 395 &I 91 U fgaRka g 2

1. had 3534 UG

2. Had fadg ug

3. 3exyg IR fadm gHl ug

4. Jexg Ul flag gl H Y &is el

Options:

SJBEZBE2115997 1
JE38621159398. 2
JEZEE2115999 2
SBE3862116000, 4

Sub-Section Number: 2
Sub-Section 1d: 3838621301
Question Shuffling Allowed : Yes

Question Id : 38386229754 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (26 to 30)
Cnaesticn Label © Comprehiension

Based on the data in the table, answer the questions that follow

The table shows the percentage (%) profit earned by the Company A,
income of Company B and expenditure of Company B during the
years, 2013 - 18 as well as formula to compute percentage (%) profit.

Year wise Financial Details (in Rs Lakhs)

Income of B Expenditure of B
Year |% Profit of A

(in Rs Lakhs) (in Rs Lakhs)
2013 [40% 438.6 36
2014 [25% 35 25
2015 [60% 62.4 48
2016 [40% Fifi 44
A7 1000 an oy
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Correct Marks: 2 WrongMarks: 0 '
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What is the difference between percent(%) profit of Company A
and Company B in the year 20137

1. 5%
2. 7%
3. 12%
4, 15%

Options:

SE3EEZ2116001. 1
SaZae2llenoz, 2
SBE3EE2116003. 3
SB3862116004, 4

Question Number : 27 Question 1d : 38386229756 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the income of the Company A in the year 2014 happened to
be Rs 32.5 Lakhs, then what was the sum of the net profit (in
Rs Lakhs) of Company A and Company B in 20147

1. Rs 12.8 Lakhs
2. Rs 13.2 Lakhs
3. Rs 15 Lakhs

4. Rs 16.5 Lakhs

Options:

SBEIBEZ2116005,
SEIEEZ2116008,
IJE3EEZ116007,
SeIEeZ116003,

o P

Question Number : 28 Question Id : 38386229757 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The percent profit of Company B was maximum in the year?

1. 2014
2. 2015

e ol
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Question Number : 29 Question Id : 38386229758 Question Type: MCQ Option Shuffling: No Display Questim'lﬁetppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

If the expenditure of Company A in year 2017 was Rs 45 Lakhs,
then the net profit (in Rs Lakhs) of Company A is what percent of
net profit (in Rs Lakhs) of Company B in the same year?

1. 15%
2. 25%
3. 40%
4. 75%

Options:

SJBEZEE2116013 1
SBZ8e2116014 2
SB3862116015. 3
JEZEE2116016. 4

Question Number : 30 Question Id : 38386229759 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the income of Company A in the year 2018 was Rs 90 Lakhs,
then the net profit (in Rs Lakhs) of Company B in 2018 is what
percent more than the net profit (in Rs Lakhs) of Company A?

1. 30%
2. 60%
3. 75%
4. 80%

Options:

JE38E2116017. 1
Saoae2llenls. 2
SB3862116019. 2
SE38E2116020. 4

Question Id : 38386229754 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (26 to 30)
Cuestion Label - Comprehension



AR %waﬁ’fﬂiwmuﬁﬁrm%: rrepp

fFofifad arol w2 faar & fomd ad 2013 - 2018 & A Ul
T BT GATHI (%), BUAT ‘9" B T TUT HUAl df * B g Td
T MY (%) 1 0T D BT 9F ST T[T 8l

qy-aR fa<iig faaeor
g8  HU T B HUH A B HuA A s
A % (@ & ) @rE T )
2013 4% 48.6 36
2014  25% 35 25
2015 B0% b2.4 48
2016  40% i 44
2017 10% 80 50
2018  20% Te 45

weiam o) = S -9 400
oq

Sub questions

Question Number : 26 Question 1d : 38386229755 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a4 2013 & SO T AU U &1 & a1 Ufa=rd § o1 3ok g ?

1. 5%
2. 7%
3. 12%
4, 15%
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gf¢ gy 2014 A ST T BT AW 225 @ T 4 dt ad 2014 o rrepp
| R 5 S (e ) o o At it

1.12.8 i %
2.13.2¢d 2
3.15dd %

4. 16.5 cid %

Options:

SJE3EE2116005 1
IJE3EE2116006, 2
Sasae2llenoy. 2
SB3862116008. 4

Question Number : 28 Question Id : 38386229757 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sl gl @1 ufaerd oy oy ad gad it ui 2

1. 2014
2. 2015
3. 2016
4. 2017

Options:

SEIEE2116009 1
SBZ8e2116010. 2
283862116011, 2
JEZEE2116012. 4

Question Number : 29 Question Id : 38386229758 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gfe gy 2017 § S0 T BT 04 45 NG T U1 1 39 g4 HUH1 T HI
Y oY (@ & H ) DUl & & g oY (@1 T H) &l fdoa-n
PIGEIGR

1. 15%
2. 25%
3. 40%
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1. 30%
2. 60%
3. 75%
4. 80%

Options:

SE3EEZ2116017. 1
SB3862116018. 2
SB3EE2116019. 3
SB38E2116020. 4

Sub-Section Number: 3
Sub-Section I d: 3838621302
Question Shuffling Allowed : Yes

Question Number : 31 Question 1d : 38386229760 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements is/are correct?

a) A Local Area Network (LAN) is usually located on one brand of
computer

b) The acronym 'ISP' stands for Internet Standard Provider
Choose the correct answer from the options given below

1. a) only

2. b) only

3. Both a) and b)

4. Neither a) nor b)

Options:
SE3EEZ2116021. 1
SaZae2llenzz, 2

b W o W T e T B I o e o I



www.prepp.in

T H W PH-T/A DY TR /8 7 rrepp

(a) el TRAT Heddh (Ta T TF) WIH-Ia: U 818 & HEX W
afYd BId g

(b) URauif Treg "33 TF U &7 1A §ei-c Was Uags U gl
ﬂ?ﬁﬁﬁﬁﬁl?ﬁ:

1. &ad (a)

2. &Had (b)

3. (a) 3R (b) T

4. (a) 3IR (b) GIFI ¥ Y BIs T8I

Options:

SJEZEE2116021. 1
SB3862116022. 2
IJE3EE2116023 2
JEZEE2116024. 4

Question Number : 32 Question Id : 38386229761 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements is/are correct?

a) The clock speed of a CPU is measured in hertz (Hz)

b) Bluetooth technology consumes more power than Wi-Fi
technology

Choose the correct answer from the options given below

1. a) only

2. b) only

3. Both a) and b)

4. Neither a) nor b)

Options:
SJEIEE2116025 1
SEZEE2116026. 2

JE3EE2116027. 2
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o BH-U/A HUT Wl 6/8 ? prepp
(a) HIUTY &1 Faiics Wis dI g H A1 o1l 5|

(b) Sy WIIFTS! ar3-Wls WEiiies! U 3ifdd Sl & @ud sl
g

ﬂ?ﬁﬁﬁﬁﬁl?ﬁ:

1. &ad (a)

2. &Had (b)

3. (a) 3R (b) T

4. (a) 3R (b) § ¥ P15 ol

Options:

SJEIEE2116025 1
SB3862116026. 2
IJE3EE2116027. 2
JEZEE2116028. 4

Question Number : 33 Question Id : 38386229762 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List | with List Il

List | List I
(Software) (Description)
a) Web browser i) Prepare written documents

b) Word processor |ii) Create and edit web pages

c) Spreadsheet iii) Connect to websites and display web pages

d) Web authoring |iv) Analyze and summarize numerical data

Choose the correct answer from the options given below

1. a) - ii); b) - iv); ©) - i); d) - iii)
2.a) - iii); b) - i); ¢) - iv); d) - i)
3. a) - iii); b) - i); ¢) - ii); d) - iv)
4, a) - ii); b) - 1); ©) - iv); d) - iii)

Options:



T a1 3 T prepp

Tl | (ATRER) 31 il (faazo)

(a) 99 T3 (i) fiad aedras &=

(b) TS TR (ii) dd NI DI g1 9U1 UfSe
T

(c) Tsgie (iii) d9 WISy & Iy SJS-1 aul
d9 UEI &l Uaiid BT

(d) 9 AT (iv) T=ITHD HiPpal DI [GRTHI
T gargo

gl fdded g :

1. (a) -(ii), (b) - (iv), (c) - (i), (d) - (ii})

2. (a) -(iii), (b) - (i), (<) - (iv), (d) - (i)

-[

2
3. (a) (i), (b) - (i), (<) - (ii). (d) - (iv)
4. (a) (i), (b) - (i), (<) - (i), (d) - (iii)

Options:

SJEZEE2116029 1
SB3862116030. 2
JEIEE2116021. 2
Sasae2llenzz 4

Question Number : 34 Question Id : 38386229763 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Select the option that contains exclusively the text file formats

1. JPEG, MP3, RTF
2. CSV, RTF, TXT

3. GIF, JPEG, MP3
4, CSV, MP3, PDF

Ontione *
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T fawen T oW tai<ie ¥ ¥ 20 Bide ot prepp

1.9 U S ol Wl 3, AR A TE
2. T dl, R uH, g &
3. T 33 U, ST Ui S off, TH U1 3
4. 91Uy dl, vg Ol 3, 4l ST up

Options:

JE3EE2116033 1
IJE38621160324. 2
Saoae2llelzs, 2
SB3862116036. 4

Question Number : 35 Question Id : 38386229764 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one is labelled Assertion (A)
and the other is labelled as Reason (R)

Assertion (A): The clock speed of CPUs has not increased
significantly in recent years

Reason (R): Software now being used is faster and therefore
processors do not have to be faster

In the light of the above two statements, choose the correct
option from those given below

1. Both (A) and (R) are true and (R) is the correct explanation of
(A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A) is true but (R) is false

4. (A) is false but (R) is true

Options:

SEIBE2116037. 1
SB38E2116038. 2
SJE3EE21160329. 2



%ngﬁum%ﬁqﬁwaﬁwm}wmﬁ(m%: Pfepp

HiDUA (A) : U Ul g @ el Wis &l gid gl & 981 ¥ ygie
w0 Y 95 do ™I gl

% (R) : AT S UGN U off I TUeday <if9® did &, 3id:
UG & e did 81 51 ®I asgdHdl 1ol o

SWRIH & ®YAl & o o ugl faseu 94 -

1. (A) TUT (R) GIFIT Hal & YT (R) (A) ! Ugl IS &

2. (A) TUT (R) T U1 & OUT (R) (A) DI W6l IR 181 &
3. (A) T8I 8 T (R) Tad &

4. (A) TSI & U (R) W61 §

Options:

IJE3EEZ2116037. 1
JEIEE211603E. 2
SB3862116039. 2
SE3862116040, 4

Question Number : 36 Question Id : 38386229765 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct sequence of biomass fuels in terms of their
energy content per unit mass

1. Dung (dry) > Coconut Shells > Unsorted domestic refuse
2. Unsorted domestic refuse = Coconut Shells > Dung (dry)
3. Wood (dry) > Coconut Shells > Unsorted domestic refuse
4. Coconut Shells > Dung (dry) > Unsorted domestic refuse

Options:

SEZ3EEZ2116041. 1
SaZae2llendz, 2
SB38E2116043. 2
SBZ862116044 4

Question Number : 36 Question Id : 38386229765 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SBE3BEZ2116041. 1 '
SE38EZ211604Z2. 2 Your
SE38EZ2116043. 5
SEZ86Z2116044 4
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Question Number : 37 Question Id : 38386229766 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per provisions of Paris Agreement, the Intended Nationally
Determined Contributions (INDCs) are to be reviewed every

1. 15 years
2. 10 years
3. 5 years
4. 3 years

Options:

SJEZEE2116045 1
SBZee2116046. 2
JE3862116047. 2
JEZEE2116048. 4

Question Number : 37 Question Id : 38386229766 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

O gl & SFER AP ©U ¥ FeiRd Sifiud sfEeH (g
U 3 f¥re)) &1 gRien Udds oy 91g &1 |ee

1.15 94
2. 1094
3.5dY
4.3aY

Options:

SJBEIEE2116045 1
SB3862116046. 2
JE3862116047. 2
Saooe2llen4ds 4

Question Number : 38 Question Id : 38386229767 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
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hazardous solid waste from industrial and urban sources is in
order of increasing desirability?

1. Indiscriminate dumping < Landfill < Incineration < Reuse
2. Composting < Landfill < Reuse < Incineration
3. Landfill < Composting < Reuse < Incineration
4. Incineration < Composting < Reuse < Landfill

Options:

Sasoe2llends 1
Sa3ae2116050, 2
SB38E2116051. 2
SB38E2116052. 4

Question Number : 38 Question Id : 38386229767 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

3 wedt Sial § Und g1 aTd &1H WdeTd 31 Uiy &
frafafad IR srIHHl § T &F 91 %H dedl dig-1adl &

HPHHG ?

1.%@33@“{@%{%{@:@
E.WWW{W{‘J‘:{:W<W
3. HEWRIE < BHIRE Wig §9HT < TF: T < HEHIe
4. HEIBIU < HHIRE WG FIHT < UH: WANT < Y+

Options:

SJBEIEE2116049 1
SB3862116050, 2
JE3862116051. 2
Sasae2lleDsz. 4

Question Number : 39 Question Id : 38386229768 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct group of diseases caused by polluted water

1. Cholera, Acute Diarrhoea, Typhoid and Polio
2. Cholera, Typhoid, Enteritis and Tuberculosis
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Question Number : 39 Question Id : 38386229768 Question Type: MCQ Option Shuffling: No Display Questic'metppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WG td e & BRI ol- dicd HiFd 9T & ol THE &I UgdH :

1. o1, SATIUTE! AHTHR, fido® (@5 hias) AR difadl
2. B9, ITdoa? (CRbhlse), =9y (Uersfey) AR qufeed
3. HAoR (CRhIs), AR (Uesiey) R aufcs
4. B9, AfqUTh AfOR 3o (CR b5 8) 3R dufes
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Options:

SJEIEE2116053 1
JE3862116054. 2
JEZEE2116055 2
SB3862116056, 4

Question Number : 40 Question Id : 38386229769 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Suppose the concentration of Carbondioxide, a greenhouse gas
responsible for climate change, is 400 ppm. What is its
concentration in air in percentage terms?

1. 0.04%
2. 0.4%

3. 0.004%
4, 4.0%

Options:

SBIBE2116057. 1
SB3862116058. 2
SB38E2116059. 3
SE3862116060. 4

Question Number : 40 Question 1d : 38386229769 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A iifort foh Siearg gkad- & ot SwRerl S SRsERs
(U TiH B39 719) B sl 400 W1, t0. 8| ufdwiddl & &0 4
gal § 3Ud! fohd-iT Frsan gt 2
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Question Number : 41 Question Id : 38386229770 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following recommended the establishment of
State Council for Higher Education in each state?

1. Report of the Estimates Committee (1965 - 66)

2. Review Committee on UGC (1977), Ministry of Education
3. National Policy on Education (1986)

4. Report of the UGC Committee (1990)

Options:
SE3EB2116061. 1

SEZBEZ11E0BZ. 2
SBE3BEZ2116063. 5
SE38E2116064. 4

Question Number : 41 Question Id : 38386229770 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FafafEd o ¥ fu uds Isg H Iwd 3 fRam uiug o) ®iioE
ol RmTiE & ot 2

1. UTdaeH TiAfd (1965-66) 1 Ui

2. guirsil (1977) & Haray, ®f wHian St
3. WpT fuaf fHfd (1986)

4. ol it &1 Ui (1990)

Options:
ZE3EE2116081. 1

SBEZBEZ11E0BZ2. 2
SB386Z2116063. 5
SE38E2116064. 4

Question Number : 42 Question Id : 38386229771 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The National Skills Qualifications Framework is based on which
of the following?
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Question Number : 42 Question Id : 38386229771 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o & O S P B, g e T Ya d 2

1. &IFCT ST gidl

2. Uelif®! amenfed el

3. A1 fa@ry amenid e
4. i e gldl

Options:

JE3EE2116065 1
IJE386211606E. 2
Sasae2lleler. 2
SB3862116068. 4

Question Number : 43 Question Id : 38386229772 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is the statutory function of the UGC?

1. To appoint teaching faculty in universities

2. To control the conduct of examination in universities

3. To determine and maintain the standards of teaching and
research in universities

4. To develop curriculum for university courses

Options:

JEZEE2116069 1
JEIEE2116070. 2
SB3862116071. 2
SB38E2116072. 4

Question Number : 43 Question Id : 38386229772 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RraRiad 2 3 et & Gififie o @ E 2

o e T T, m o e e
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Question Number : 44 Question Id : 38386229773 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following is a Massive Open Online Course
platform created by the Ministry of Human Resource
Development, Government of India?

1. PRATHAM

2. SWAYAM

3. FUTURELEARM
4. OPEN LEARN

Options:

SJEIEE2116073 1
SB38E2116074. 2
JEZEE2116075 2
JEZEE2116076. 4

Question Number : 44 Question Id : 38386229773 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafafad & ¥ fed A-a 9areH [de™ #3310y, YRd SXeR &l
ged Had 3Hi-dIg- UiédshH TiehH & 4 § g4 [l g 7

1. U4H

2. ¥qaH
3. TRgERTH
4. AU T+

Options:

SJBEIBE2116073 1
SB3862116074. 2
IJE3BE2116075 2
Saoae2llely e, 4

Question Number : 45 Question Id : 38386229774 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options: '
SJBEIBE2116077. 1 Your

SEZB6Z11607E. 2
SEZEEZ116073. 35
SBEZBEZ116030. 4
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Question Number : 45 Question Id : 38386229774 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafeiRad o U oA fagH Arciar fayfdereag T «wziy so- 9y
aIad o T 3R 39 fAyfdeery &t argmal 3R e o §R |
ferar 2

1. fooH gt (ife)
2. f5H &1 OH (@i
3. 7 G (@)
4. 951 1Y ()

Options:

Sasae2llely sy 1
SB3862116078. 2
SB38E2116079. 3
SE38E2116080. 4

Sub-Section Number: 4
Sub-Section Id: 3838621303
Question Shuffling Allowed : Yes

Question Id : 38386229775 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (46 to 50)
Cuestion Label - Comprehension
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Read the given passage and answer the questions that 'repp

Your Personal Exams Guide

follow

The motives for direct investments abroad are generally the
same as earning higher returns, possibly resulting from higher
growth rates abroad, more favorable tax treatment or greater
availability of infrastructure and diversifying risks. Indeed, it has
been found that firms with a strong international orientation,
either through exports or through foreign production and/or
sales facilities, are more profitable, and have a much smaller
variability in profits than purely domestic firms. Although these
reasons are sufficient to explain international investments they
leave one basic question unanswered with regard to direct
foreign investments. That is, they cannot explain why the
residents of a nation do not borrow from other nations and
themselves make real investments in their own nation rather
than accept direct investments from abroad. After all, the
residents of a nation can be expected tc be more familiar with
local conditions, and thus to be at a competitive advantage with
respect to foreign investors. There are several explanations for
this. The most important is that many large corporations, usually
in monopolistic and oligopolistic markets, often have some
unique production knowledge or managerial skill that could
easily and profitably be utilized abroad and over which the
corporation wants to retain direct control. In such a situation, the
firm will make direct investments abroad. This involves
horizontal integration or the production abroad of a
differentiated product that is also produced at home. This helps
serve the foreign market better by adapting to local conditions
than through exports.

Sub questions

Question Number : 46 Question Id : 38386229776 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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The possible reasons for direct foreign investment can be '
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a) Higher returns

b) Better tax regimes

c) Availability of infrastructure

d) Risk mitigation

e) Financial support from local investors

Choose the correct answer from the options given below

1. a), d) and e) only
2. b), ¢) and d) only
3. a), b) and c) only
4. d), e) and f) only

Options:

SE3EEZ2116051. 1
SasaeZllelsz, 2
SBI8E2116083. 2
SBZ8E2116084 4

Question Number : 47 Question Id : 38386229777 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Purely domestic firms are affected by

1. Low interest rates

2. Small variability of profits
3. Larger variability of profits
4. Export controls

Options:

JBE3EE2116085 1
JE3862116086. 2
Sasae2llelsr. 2
SB3862116088. 4
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In the case of direct foreign investments, what factor remains '

Y

repp

Personal Exams Guidk

unaddressed?

1. Acceptance of foreign investment

2. Non-acceptance of foreign investment
3. Absence of competitive edge

4. Role of monopolistic corporations

Options:

JBE3EE2116089. 1
IJE3862116030, 2
Sasae2llenal, =
SB3862116092. 4

Question Number : 49 Question Id : 38386229779 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What advantage do large corporations have in oligopolistic
markets?

1. Direct control over profitability

2. Large production of undifferentiated products
3. Localization of managerial skills

4. Eliminating barriers to higher profits

Options:

JEZEE2116092 1
JEZEE2116094 2
SB3862116095, 2
SB3862116096. 4

Question Number : 50 Question Id : 38386229780 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The passage focuses on the aspects mainly related to

1. Indirect control over investments

2. International orientation of investment

3. Sales facilities

4. Risks involved in integration of production
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Question Label : Comprehension 'repp
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Sub questions

Question Number : 46 Question Id : 38386229776 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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fraffad o 9 get fadey 94

1. (@), (d) 31X (e)
2. (b), (0) 3R (d)
3. (a), (b) 3 ()
4. (d), (e) 3R (f

Options:

JEZEE2116081. 1
SBZEe2116082. 2
SJEZEE2116083 2
JEZEE2116084. 4

Question Number : 47 Question Id : 38386229777 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fasrg g dulgl Feffad 3 nfaa g e

1. ®H &9 &

2. 7MY H &Y firgar
3. @Y H 4 fimar
4. Tafa Fdam

Options:

SBIEE2116085 1
Sasee2llelss. 2
SBZEE2116087. 3
SBE3862116088. 4



WWW.p

mﬁ%%%nﬁﬁ,mwmwwﬁﬁww prepp
%- ? Your Personal Exams Guide

1. face=l a9 & Wierar
2. el Fdw ot srdierdar
3, UfoRayTdHS a1y &1 2HE

4. UDHTUSHR drct (Al o1 Yt

Options:

JBE3EE2116089. 1
IJE3862116030, 2
Sasae2llenal, =
SB3862116092. 4

Question Number : 49 Question Id : 38386229779 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g (7l @ 71 3D RUfd W ¢ 2

1. ATHYGA 0 Uegel g

2. HfqHEd IdG! &1 SUGI Al
3. UEeH SHIRE & A0

4. SECR T 5d dIUT3f &l g Bl

Options:

SJEZEEZ2116093 1
SBZ8e2116094 2
JE3EE2116035 2
JEZEE2116096, 4

Question Number : 50 Question Id : 38386229780 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g TN i w0 § faforad © foy deftd e mafia '
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2. fid=r &1 sfaradiy it
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Section Number : 2 'rep
Section type: Online Your Personal Exams Guide
Mandatory or Optional: Mandatory
Number of Questions; 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 3838621304
Question Shuffling Allowed : Yes

Question Number : 51 Question 1d : 38386229781 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following is NOT correct according to the
Consumer Protection Act?

1. District Forum shall consist of a lady social worker

2. State Commission shall consist of person who is or has been a
Judge of a High Court

3. District Forum shall consist of four members

4. National Consumer Disputes Redressal Commission shall
consist of a person who is or has been a Judge of the Supreme
Court

Options:

SJEZEE2116101. 1
SBZEe2116102. 2
JE3EE2116103 2
JEZEE2116104 4

Question Number : 51 Question Id : 38386229781 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 52 Question Id : 38386229782 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to FEMA, foreign exchange does NOT include

1. Deposits payable in any foreign currency

2. Bills of exchange drawn in Indian currency but payable in any
foreign currency

3. Travellers cheques drawn by institutions outside India but
payable in Indian currency

4. Drafts drawn by banks outside India and payable in foreign
currency

Options:

JEZEE2116105 1
JEIEEZ211610E. 2
SB3862116107. 2
SB3862116108. 4

Question Number : 52 Question Id : 38386229782 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT (U3 UY) & 3R [aczh g mfta a8 &

1. Tl ezl ga1 7 <g SHRIf

2. YR gat & amefva fafgg faa ffg fodi facei g g &g

3. HRd & §5R [&Ud Gwureil gR1 Seid gEl 9 fbg YRd™ T3
Hag

4. YRd & dTeX YT 41 ERT 3MTeRd Site 3R fqezi gard o

Options:
SE3EB2116105. 1

SEZBEZ11E10E. 2
SB3BEZ2116107. =
SE38EZ2116108. 4

Question Number : 53 Question Id : 38386229783 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Sinale Line OQuestion Option : No Obption Orientation : Vertical
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SBE3BEZ2116103. 1 '
SE38EZ2116110. 2 Your
SBe3862116111. =
SEZ86Z211611Z2. 4
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Question Number : 53 Question Id : 38386229783 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 & T ST B Aadd WAl & BHIfdd Sdl g ?

1. I9TH SR fearierar &

2. TGiaRU] TR&UT B

3. URIATA S 3R GR&f DI
4. Ul B

Options:

SasoeZllelos 1
Sasee2llellon 2
SB38E2116111. 2
SBZEE2116112. 4

Question Number : 54 Question 1d : 38386229784 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one is odd?

1. Economic Policies

2. Economic Planning

3. Socio - cultural factors

4. Macro - economic scenario

Options:

2838621161121
JE3EE2116114. 2
SB3862116115. 2
SBsee2l16116. 4

Question Number : 54 Question Id : 38386229784 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GCACRGLE R
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Question Number : 55 Question Id : 38386229785 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT a method for calculating or

ascertaining the amount of purchase consideration?

1. Net Payment Method

2. Net Assets Method

3. Gross Receipts Method
4. Share Exchange Method

Options:

SaooeZllelly 1
Sasee2l16118. 2
SB38E2116119. 3
SBZEE2116120. 4

Question Number : 55 Question 1d : 38386229785 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafafad & ¥ &1 g uldwa &1 AR &1 uRead & a1 [y
T DI UG d8l 8 7

1. Fad YaH dsid
2. f1aa ulvduf ugfa
3. e U Ugid

4. IR AR Usid

Options:

SBZEE2116117. 1
SBsee2l16118. 2
SB3EE2116119. 3
SE3862116120. 4

Question Number : 56 Question 1d : 38386229786 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following sections of Companies Act, 2013
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SB3BEZ2116121. 1 '
SB3BEZ211612Z2. 2 Your
SB38EZ1161Z23. =5
SEZ86Z21161Z24. 4
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Question Number : 56 Question Id : 38386229786 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HUHl AT, 2013 S FEfEREd J 9 oFE 4R S B
FUMHH, T SR Y13 &I B &1l © ?

1.319
2.320
3. 410
4. 502

Options:

SJEZEE2116121. 1
SBZEE21l16122. 2
JE3EE2116123 2
JEZEE2116124. 4

Question Number : 57 Question Id : 38386229787 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT part of the process of
management audit?

1. Identification of responsibility center

2. Review of performance of each responsibility center

3. Review of organizational structure

4. Investigating the depreciation method and its application on
fixed assets in the company

Options:

JE3862116125. 1
SooaeZllelze 2
SB3ee2l16127. 2
SBE3EE2116128. 4
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Options:

JB3862116125 1
JE3862116126. 2
Sooae2llelZr. 2
SB3862116128. 4
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Question Number : 58 Question Id : 38386229788 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is NOT correct regarding the
duties of an auditor?

1. Physical verification of fixed assets is primarily the
responsibility of the auditor

2. Ownership of fixed assets should be verified by examining the
title deed by the auditor

3. Auditor should ascertain that the assets are in the possession
of the client

4. The auditor should satisfy himself that the assets have been
valued in the financial statements according to the accounting
principles

Options:

JBEZEE2116129 1
JE3EE2116120. 2
JEZEE21161231. 2
SBZEE2116132. 4

Question Number : 58 Question Id : 38386229788 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

SBZEE2116129. 1
Sesee2llelz0. 2
SBZEE2116131. 3
SBE3862116132. 4

Question Number : 59 Question 1d : 38386229789 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

'‘Maximization of firm's growth rate subject to managerial and
financial constraints’ as one of the important alternative
objectives of especially large business corporation was pleaded

by:

1. Milton Friedman
2. Robin Marris

3. Cyert and March
4. H.A. Simon

Options:

SE3EEZ21168133. 1
SaZee2llelzd 2
SB3862116135. 2
SBZEE2116136. 4

Question Number : 59 Question Id : 38386229789 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options: '
SJBEZEEZ2116133 1 Your

SEZ86Z2116124. 2
SEZ86Z116135. =
SBEZBEZ11E6136. 4
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Question Number : 60 Question Id : 38386229790 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
On which of the following assumptions, the theory of consumer
behaviour on cardinal utility approach is NOT based?

1. Consumer is rational

2. Limited money income of the consumer
3. Maximization of total satisfaction

4. Diminishing marginal utility of money

Options:

JE3E8E2116137. 1
JEZEE2116138. 2
Saoae2llels9. 2
Sa386e2116140. 4

Question Number : 60 Question Id : 38386229790 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFafafad & ¥ iy ¥R W) ifsaa S9aiiar eipeio et
JUHIadl @R HGid A1ed 18] o 2

1. SUHIST A Yad giaT 8
2. JuMiadr o Hifed gar 2y

3. QUi TP &1 b ariau
4. gzl 1 gedt 9aid ST

Options:
JE3EB2116137. 1

SEZBEZ11E13E. 2
SBE3BEZ2116133. =5
SE38E2116140. 4
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The following are the two statements regarding elasticity of 'repp

Your Personal Exams Guide

demand and its measurement

Statement | : On every point on the straight line demand curve,
the point elasticities are all equal

Statement Il ; On every point on the rectangular hyperbola
shaped demand curve, the point elasticities are not equal

Select the correct option for those below:

1. Both the statements are correct

2. Both the statements are not correct

3. Statement | is correct while Statement Il is incorrect
4. Statement | is incorrect while Statement Il is correct

Options:

SB38e2116141. 1
SBZEe2116142 2
SB3EE2116143 3
SJE3862116144 4

Question Number : 61 Question Id : 38386229791 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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A production function expressed as 'repp
=1
Q= AlaKP+ (1 —a)LP]®

or

=X
Q= AlaL P+ (1 - a)KP] B
WhenA>0,0<a<landf > -1

Where L = labour, K = Capital and A, @ and p are three
parameters is called

1. Constant elasticity substitution function
2. Variable elasticity substitution function
3. Leontief - type function

4. Cobb - Douglas function

Options:

SJBZEE2116145 1
283862116146 2
JEZEE2116147. 2
Soooe2llelds. 4

Question Number : 62 Question Id : 38386229792 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ud 3G U &l odad [paI AT Q = A [akP + (1-a)L P /B
3l

Q = AfalF+ (1-c)K B VB

WEA>0,0<a<13HRPB>-1
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Question Number : 63 Question Id : 38386229793 Question Type: MCQ Option Shuffling: No Display Questic'metppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

Under which of the following approaches, the cost of equity is
assumed to increase linearly with leverage, i.e, the average cost
of capital remains constant with increased use of leverage?

1. Net Operating Income Approach
2. Net Income Approach

3. Traditional Approach

4. Walter Approach

Options:

SJBEIEE2116149 1
SBZ8e2116150. 2
SB3862116151. 2
JEZEE2116152. 4

Question Number : 63 Question Id : 38386229793 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafafaa o © fog SPaiv & oiid 3] &1 arTd & digdd &
g | qieS3iIe 7F1 I 8, SiUid dias & gigier 39 &
Yy 319 Yol drTd R Igdi € 2

1. 9 v=TaA omg eff@iur

2. Faa 3w = PEm
3. URAR® =@

4. Aleex 2P DI

Options:

JE3862116149 1
Sasee2llelsn. 2
SB3ee2116151. =
SB38E2116152. 4

Question Number : 64 Question Id : 38386229794 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If the risk - free return (Rf) is 6%, Beta value () is 1.5 and market
rate of return (Kmd 1= 10% the expected rate of return would be
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Question Number : 64 Question Id : 38386229794 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AfE SIREH - god Ufdwd (Rf) 6% &, Siel IH (B) 1.5 & 3R ufawd
1 9R &3 10 % & Al Uidhe B A1 & ghll -

1. 15%
2. 12%
3. 17.5%
4, 16%

Options:

SasoeZllelss 1
Sasee2llelsd 2
SB386E2116155 3
SB38E2116156. 4

Question Number : 65 Question 1d : 38386229795 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A company raises I 1,00,000 by issue of 1000, 10% debentures
of T 100 each at a discount of 2% redeemable after 10 years. If
the corporate tax rate is 40%, what would be the cost of capital?

1. 6.82%
2. 5.98%
3.6.18%
4, 5.5%

Options:

SJBZEE2116157. 1
SB3862116158. 2
JE3862116159. 2
Sosoe2llelen, 4

Question Number : 65 Question Id : 38386229795 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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TS HU-T 10 99 o TYTd 2% Al B B¢ T 100 Rs UL & 10%
fEaar 3rufd 1000 f&a=Rl & 70 ¥ 1,00,000 =T &1 Yol Ferdl
t| Ift HRUNE B B & 40% © ol Yuil &1 &1 FTd Bl ?

1. 6.82%
2. 5.98%
3. 6.18%
4, 5.5%

Options:

SasoeZllelsr 1
SB38e2116158. 2
SB38E2116159. 3
SBZEE2116160. 4

Question Number : 66 Question Id : 38386229796 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following years, the Bretton Woods Agreement
was signed by the delegates from 44 nations which led to the
establishment of the IMF?

1. 1940
2. 1952
3. 1944
4. 1957

Options:

SJEZEE2116161. 1
SB3862116162. 2
JE38E2116163 2
Soooe2lleled 4

Question Number : 66 Question Id : 38386229796 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frofafad o 9 fow oy 44 APt & UfafY del g1 o 459
— T oA S B T T e e =T
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SB3B62116164. 4

Question Number : 67 Question 1d : 38386229797 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum total of the values of two variables X' and Y" is equal
for all the observations. The value of the coefficient of
correlation between "X' and 'Y’ is:

1. + 1 (perfectly positive)

2. - 1 (perfectly negative)

3. Zero (No correlation)

4. = 0 < 1 (Imperfect correlation)

Options:

JBEZBE2116165 1
283862116166 2
JEZEEZ2116167. 2
SBZ862116168. 4

Question Number : 67 Question Id : 38386229797 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
QR x ARy & YH T80l & oY 7F & I qEE €1 X 3R
v % did Ig e Ul $THM &;

1. +1 (quf U-Iedh)
2. -1 (qUl SBUITED)
3. Y9 (1S Hg-HaY l)
4. >0 <1 (Y0l Ug Gae)

Options:

JB3E862116165 1
JE386211616E. 2
Sooae2lleler. 2
SB3862116168. 4

Question Number : 68 Question Id : 38386229798 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
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1. When value of correlation coefficient is one, the two
regression lines coincide

2. The regression coefficients are independent of the change of
origin and of scale

3. The sign of the regression coefficients are always the same

4. The square of the coefficient of correlation is called coefficient
of determination

Options:

SJBEZEEZ2116169 1
SBZEE2116170 2
JE3862116171. =2
JEZEE2116172. 4

Question Number : 68 Question Id : 38386229798 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFafafad & 9 &1 91 Y9 Tad 87

1. 9Td YgUaH UIi® &1 HH US & di &l WO @1 JaTd gidl
|

>, UfeRTHA T[Ulieh Faufy 3R WM & uRad=i @ qad gid 21

3. U uriet & diemfordia g 9ed 99H 81 &

4. YU Ul ®1 97 FYURU T[ulid deardl gl

Options:

SJBEZEE2116169 1
SB3862116170. 2
JE3862116171. 2
Sooae2llelyz. 4

Question Number : 69 Question Id : 38386229799 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is the non - random method of selecting
samples from a given population?

1. Stratified Sampling
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Question Number : 69 Question Id : 38386229799 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frofafed & 9 oF oy g a9 3 ufaafid &1 909 o1 31 IR-
IefSe tefd g 7

1. TWH$d UfdeR!
2. JoTetiTg ufdest
3. ®ieT ufaeef

4. 9g-%aa ufaesf

Options:

JBE38E2116173 1
J83862116174 2
Saoae2llelys. 2
SB3862116176. 4

Question Number : 70 Question Id : 38386229800 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is an incomplete experimental research
design?

1. Before and after with control group design
2. Factorial design

3. One group before-after design

4. Latin Square design

Options:

JEZEE2116177. 1
JEZEE211E17E. 2
SB38E2116179. 2
Sesee2116180. 4

Question Number : 70 Question Id : 38386229800 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fafefad o ¥ 2 gl waimed U D g ?
1. Ugd 3R Ugrd v 9 & U1y idhed
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Question Number : 71 Question 1d : 38386229801 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT a factor contributing to MBO
program failure?

1. Altering goals to meet changes in cicumstances
2. Easy goals

3. Lack of management support

4. Setting of unrealistically difficult goals

Options:

JE3E8E2116181. 1
JE3862116182. 2
SooaeZllelas 2
Sasae2llelad. 4

Question Number : 71 Question Id : 38386229801 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafeRad o U oF uH df s giaE fawear &1 SRadl PR 781
g7

1. gRfufaat § uftad @ Q0 &3 & ol ded @1 dgad e
2. 3 a8

3. Ud e Juid @l 3141

4. SATA® Do a&g Fulfa o

Options:

JE3EE2116181. 1
JEZEE2118182. 2
SBZ8E2116183. 2
Sasee2llelad. 4

Question Number : 72 Question Id : 38386229802 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following terms means the tendency of a
supervisor to rate a subordinate lower than his performance?
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Question Number : 72 Question 1d : 38386229802 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFrafeiRad & U B U Wse BT Al fdd! SE Bl 3D -
faTe ¥ HAR faum & o e S uafi g 2

1.8 UM
2. 2al UHd
3. Bt Ugi
4. 3EIRT Ugfd

Options:
JB3EB2116185. 1

SEZBEZ11E1EE. 2
SB3BEZ2116187Y. =
SE38EZ2116185. 4

Question Number : 73 Question Id : 38386229803 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The informal group’s communication system is called

1. Group Dynamics
2. Grapevine

3. Exchange

4. Interaction

Options:

SJBEZEEZ2116189 1
JE3862116190. 2
JEZEE2116191. 2
SBZ8E2116192. 4

Question Number : 73 Question Id : 38386229803 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HAUR® T YR UMl Dl bl olldl & ?
1. THE Tidd!
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Question Number : 74 Question 1d : 38386229804 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Quality circle is a type of

1. Problem- solving team
2. Cross-functional team
3. Self-directed team

4. Project team

Options:

SBI8E2116193 1
SBZ8e2116194 2
SBE38621161395. 3
JE3862116196 4

Question Number : 74 Question Id : 38386229804 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T[0Iddl deb Udh UhX P -

1. 90T - THYF Gd ©
2. SEREI HATHD ad &
3. W-FERacd g

4. IR G &

Options:

SasoeZllelaz 1
Sasee2lle194 2
SB3EE2116195 3
SBEZEE2116196. 4

Question Number : 75 Question 1d : 38386229805 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose incorrect statement from the following:

1. 28 Days T - bills were introduced in 1998
2. 364 Days T - bills were introduced in 1992
3. 182 Days T - bills were introduced in 1986
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Correct Marks: 2 Wrong Marks: 0 'repp
fofafad § O 90 Y &1 999 Y - ot vt i

1. 28 feag A-fed 190s H U= feu o o

2. 364 feag A fad 1902 T iU U &
3. 182 fegu - fad 19ss TR U U &
4. 273 feaa d-fed 2006 H Um fbu @ o

Options:

SJBEIBE2116197. 1
JE3862116198. 2
JEZEE2116199 2
SBZ8E2116200, 4

Question Number : 76 Question Id : 38386229806 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
14 Days intermediate T - bills were brought into effect from
1996 - 97 after the abolition of which of the following?

1.91 Days T - bills

2.182 Days T - bills
3.273 Days T - bills
4. 364 Days T - bills

Options:

JEZEE2116201. 1
IJEIEE2116202. 2
SBI8E2116203. 2
SBsee2116204 4

Question Number : 76 Question Id : 38386229806 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

14 Teaw Aemadl d-l9d o FafeRed J 9 foud 3= &
a6 1996-97 Y <IF] fohdn 711 47 7

1. 91 fgag &1 fag
2. 182 feaq d1- faa
3 z?eﬁfmfr fad

R . VS . T e S
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Correct Marks: 2 WrongMarks: 0 'repp

Which among the following is NOT a correct statement?

1. The Reserve Bank of India worked as Central Bank of Burma till
April 1947

2. The Reserve Bank of India worked as Central Bank of Pakistan
till June 1948

3. The Reserve Bank of India worked as Central Bank of
Bangladesh from January 1972 to December 1975

4. The Reserve Bank of India commenced its operations on April
1, 1935

Options:
SEZEE2116205. 1

SBE3BEZ2116206. 2
SE3BEZ2116207. 5
SE38EZ2116208. 4

Question Number : 77 Question Id : 38386229807 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEfEd A S e WSy 95l dal 6 ?

1. YRS Red da T el 1947 AP sHI S dElddh & U H
P fdpar Tl

2. YR feord §& 5 9, 1948 T UIfhedH & d=1d db & ©0
o @14 o Uil

3. URAT ieid d@ 3 9adl 1972 ¥ fGHeR 1975 0@ Siae &
S dF & ¥U H S foear o

4, YR Rod S 7 1 310d 9]3y T SUH1 TrTeH IR ol

Options:

SEZEEZ2116205. 1
SEZEe21l1le206, 2
SB38E2116207. 2
SBE38E2116208. 4

Question Number : 78 Question Id : 38386229808 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 78 Question Id : 38386229808 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AP A db b FEfaRad J 9 fedd quf @i ard srut
& %0 o 1987 H w10 fdogr g 41 7

1. YRJIG X dd

2. YR Gitg oEr e
3. YO od d@

4. YR e fad

Options:

SJEIEEZ2116209 1
SBZEE2116210. 2
283862116211, =2
JEZEE2116212. 4

Question Number : 79 Question Id : 38386229809 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In e-commerce, one of the key design elements of an effective
website - community refers to

1. Its layout and design

2. The way site enables user to user communication

3. Site’s ability to tailor itself to different users or to allow users
to personalize the site

4. Degree that the site is linked to the other sites

Options:
JE3EB2116213. 1

SEZBEZ116214. 2
SBE3B8EZ2116215. 5
SE38EZ2116216. 4



%W%%’%"%'%awm BRI B UE fEuRAgdes rrepp

1. 3BT W33e 3R feugA

2. Ulse GRI UAadl ¥ Uaiad TaR & 90y g9 &1 i

3. W9 @l [qud wiadrsi & 30 §9H J1 Uise &1 Yaiadra gRI
U ST S BT AN ¢ DI Alse B &HdT

4. Olse & 3 gi5el ¥ foid & & 56

Options:

SaooeZllezlz 1
Sasae2llezld 2
SB38E2116215 3
SBZEE2116216. 4

Question Number : 80 Question Id : 38386229810 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is NOT true about web marketers?

1. Web marketers usually try to attract prospects to their site
through email, advertisements in newspapers

2. Use attractions like discounts, gifts and contests

3. Ask customers to give their personal data mandatorily

4. Give a lot of publicity to the discount schemes

Options:

SBZEE2116217. 1
SBsee2116218. 2
SBZEE2116219. 3
SB3862116220. 4

Question Number : 80 Question Id : 38386229810 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frofafad & 4 31 dd Arbe & TR H Hgl dol 6 ?

1. 99 A1dheX 5-Hd, THER T3 H§ G319 & A1e09 ¥ 39T Hige
R YHIGd aFll @&l S Nd S & T 9HFIad Targ axd
8l
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Question Number : 81 Question Id : 38386229811 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Companies that are becoming skilled in Customer Relationship
Management (CRM) focus on:

1. Understanding the perceived performance and buyer's
expectations

2. Giving benefits to the customers by reducing cost

3. Developing programs to attract and retain the right customers
and meeting the individual needs of valued customers

4. Giving the quality in features and characteristics of a product
or service that bear on its ability to satisfy stated or implied
needs

Options:

SBZEe2116221. 1
Sasee2llez22. 2
SBIEE2116223 3
SB3862116224 4

Question Number : 81 Question 1d : 38386229811 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
d AT Sl SUHiedl Yy UdeH (A HR UH ) § HUd Bl @ 8,
HYAT & Biad DLW 6 ;

1. W&l FareH 3R shdl &1 Ur=I & HE1

2. DT B XD SUHTGS S A &1

3. Gel IqHigrsll & o fiid B TUl 30! g8 3@ & 1Y
U d4R AT a1 JeddH 3uHIddra| ol SAfdrTd shedl @l
R BT

2, Tt Iare a1 Yarsf &1 fagiar <R ey o urEdr a1 &l
Sfcafad a1 sfafified weEdl & R & S IFgdr 3Edi g

Options:
Sasee2116221. 1
SBZEE2116222. 2

SESBEZ116Z223. =
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come from which one of the following?

1. Advances in Information Technology

2. Reduction in petroleum prices

3. Fast order processing

4. Increase in production of commercial vehicles

Options:

JB3862116225 1
JE38E2116226. 2
Saoae2llez22r. 2
SB3862116228. 4

Question Number : 82 Question Id : 38386229812 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B1d 81 & aul § YHR-d7 § G&fdl &1 WiE o 9 F 9 foud
W BT § ?

1. GaA1 U] 6 3909 9

2. USifered oial & ol o

3. 91 I & A & Saiea

4. OIS dTg-l & I H3fg 9

Options:

JE3EE2116225 1
JEIEE211622E. 2
SBI8E2116227. 2
SB3862116228. 4

Question Number : 83 Question Id : 38386229813 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT a presumption about a negotiable
instrument?

1. Date
2. Consideration
3. Stamp
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Correct Marks: 2 Wrong Marks: 0 'repp
fFrfafad & 9§ o9 Werg add & IR § Wi J8l 6 ?
1. fafy

2. ufamd

3. %W

4. 3fafed & FHdel iR Wi &%

Options:

SJBEIBE2116229 1
IJE3EE21162Z20. 2
JEZEE21162231. 2
SBI8E2116232. 4

Question Number : 84 Question Id : 38386229814 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following relates to warranty?

1. It is of vital importance for completion of contract

2. If there is breach, the aggrieved party can repudiate the
contract

3. It is essential to the main purpose of the contract

4. In case of breach, the aggrieved party can claim only damages

Options:

JEZEE21162332 1
JEZEE2116234 2
SB3862116235. 2
SBI8E2116236. 4

Question Number : 84 Question Id : 38386229814 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafied 9§ 9 oH aidl 9 et g 2

1. I8 idal &1 Ui &3 & ol 3dd Hewyvi g

2. Of¢ i Jedigd Bidl & A1 4ifsd Uef Gidal & 71 & 9&di &
3. I diae & H97 3590 & U a5

4. Of Ieciad gidl ¢ di tifed &l dad afadl & foe aar a2

TI__I__l'Té'I
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Correct Marks: 2 WrongMarks: 0 '

Which of the following is the odd one out? !
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1. Specific goods

2. Un-ascertained goods
3. Future goods

4. Ascertained goods

Options:

SJBEIBE2116237. 1
JE3862116238. 2
JEZEE2116239 2
SBZ862116240, 4

Question Number : 85 Question Id : 38386229815 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafafad o 4 o o o=l 9 sfel & 7

1. [afw a%q0

2. SAfaFYT g5qu
3. HIdl 9&U

4, faff&d aqu

Options:

SJBEIBE2116237. 1
SB38E2116238. 2
SJE3E62116239 =2
JEZEE2116240. 4

Question Number : 86 Question Id : 38386229816 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The indemnity holder is NOT entitled to

1. All damages which he may be compelled to pay in any suit in
respect of any matter to which the promise applies

2. All costs that he may be compelled to bear in defending any
such suit

3. All sums that he may have paid under the terms of any

F o 1
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Question Number : 86 Question Id : 38386229816 Question Type: MCQ Option Shuffling: No Display Questic'metppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

&gl 4R® sHeR A8l &

1. T amTel o forres foe 9o @], 8, o ey o i are el
&l forgesT YITdE H & oY 34 919 {1 o Yool ©

2. fordll Ul a1e @1 Sd1d A | Tl it foet 984 &3 @ (A
3 a1 fobar ol Ubdl o

3. 04 a1g o ot et @1 2l & Sfavid o i forgeT Y
34 B gl

4. HIRd el & feru aifoai S FRual 3 8

Your Personal Exams Guide

Options:

JBE3862116241. 1
JEZEE2116242. 2
Soooe2llez4ds 2
Sasae2l16244 4

Question Number : 87 Question Id : 38386229817 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ADEN Rules, 1953 is related to which of the following?

1. Tax exemption

2. Residential status

3. Double taxation relief

4. Assessment of corporate entity

Options:

SJBEIEE2116245 1
SB3862116246. 2
JE3862116247. 2
Soooe2llez4s. 4

Question Number : 87 Question Id : 38386229817 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U Els A gy, 1953 Fufafaad d € fvgg 4e6fia 8 ¢

1. @RET
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Question Number : 88 Question Id : 38386229818 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What percentage of income from compensation on disaster is
exempted from tax liability?

1. 100%
2. 75%
3. 50%
4. 25%

Options:

JBE3E62116249 1
JE3862116250. 2
Sooae2llez2s1. 2
SB38e2116252. 4

Question Number : 88 Question Id : 38386229818 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

319el & Tay H &fdufd o e 3 o fdbha-l Ui B ohal ge
e ?

1. 100%
2. 75%
3. 50%
4, 25%

Options:

JE3E62116249 1
JEIEE2116250. 2
SB3862116251. 2
SB3862116252. 4

Question Number : 89 Question Id : 38386229819 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following is a correct statement about
residential status of a company?
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383862116253, 1 prep
383862116254, 2 o et coms
383862116255, 3

383862116256. 4

Question Number : 89 Question Id : 38386229819 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fFrafeiad ® ¥ oF fodl du-l ol Hardl fufd & IR & Tgl Y
G

1. fordt ol &t -~ I el =8 - & & u o fled fear s
gahdl g

2. Tl Hu-t @l g Fard el © & 0 J $Ht i ol
[CRUEIRCI

3. Tt Ul ! » I Al 98l -+ o © U H fdd dHred &1
Hufd ¥ Fifed fobar o gbdr B

4. Tt Ul !+ g et =8 - & &4 o q1iirey HAred ol
Hafa ¥ Fifed foar on 9o 81

Options:

JE3EE21162532 1
JEZEE2116254 2
SB3862116255. 2
SB38E2116256. 4

Question Number : 90 Question Id : 38386229820 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Under which of the following categories, a partner of partnership
firm will be assessed?

1. An individual

2. HUF

3. Firm

4. Body of an Individual

Options:
2E3EE2116257. 1

SBE3BEZ116258. 2
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Options:

JBE38E2116257. 1
JE3862116258. 2
Saoae2lle259. 2
SB386e2116260. 4

Question Number : 91 Question Id : 38386229821 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What are the drivers of globalization?

a) Population mobility especially of labour

b} Financial flows

c) Exporting

d) Assembly operations

Choose the correct answer from the following

1. a) and d)
2. b) and d)
3.a) and b)
4. ¢) and d)

Options:

JE3E62116261. 1
JEIEE21162E2. 2
SBI8E2116263. 2
SBsee2116264. 4

Question Number : 91 Question Id : 38386229821 Question Type: MCQ Option Shuffling : No Display Question Number : Ye



T e =3 prepp
(a) ST Tfaeficad, fARNER 4H®! &t

3. (a) 3R (h)
4. (c) 3R (d)

Options:

JB3862116261. 1
JE3862116262. 2
JEZEE2116263 2
Sasae2lle6264. 4

Question Number : 92 Question Id : 38386229822 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are part of Corporate Social
Responsibility (CSR) to consumers?

a) Reasonable chances and proper system for accomplishment
and promotion

b) To supply goods at reasonable prices even when there is
seller's market

c) Improving the efficiency of the business operation

d) To provide an opportunity for being heard and redress
genuine grievances

Choose the correct answer from the options given below
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Question Number : 92 Question Id : 38386229822 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I & o HRURE GHEvE JRalidd dH U g ?

(a) Feafr iR yada o fou gidaeird S/@ar 3R 3fad wome

(b) fasha a9k & BH W ! e S1Hd W 9! 3 i

() IR WaTeH! DI aéidl H gUR

(d) G- I TR UG A1 a4l el Riardd! &1 HIE Sl
fafafad o ¥ ggl I g+

1. (a) 31 (b)
2. (b) 3R (d)
3. (b) 3R ()
4. (a) 3 ()

Options:

SEZEEZ2116265. 1
Sasae2lle2eE. 2
SB38E2116267. 3
SB38E2116268. 4

Question Number : 93 Question 1d : 38386229823 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Which among the following are NOT qualified to be appointed 'repp
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as auditor of a company?

a) An individual who is a Chartered Accountant and holds a
Certificate of Practice as per CA Act, 1949

b) A limited liability partnership firm, which has all partners as
Chartered Accountants

c) Officer or employee of a company who is qualified Chartered
Accountant degree holder too

d) Any Chartered Accountant whose appointment will result in
the person being the auditor of more than 10 companies

Choose the most appropriate option:

1. a) and b)
2. b), ¢) and d)
3.c) and d)
4. a), b) and d)

Options:

SJBEIBE2116269 1
SBEIEE2116270. 2
IJE3862116271. 2
JEIEE2116272. 4

Question Number : 93 Question Id : 38386229823 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) D3 cdfad ol Tal CETHR o 3R 91 U 3HfUfHad, 1949 &
STUR 3{¥TY FHI0 U 41Rd Bl ©

(b) Hfird o e B forge uff 9EicrR T dueR &

(c) B! &1 TUBRT 71 FHIRT & AP TS @R &3 4R®
i g

(d) Bls Y qaIdR forde! Fgfdd 10 O siftie dufaal o o
e HEUH e 99l &

ﬂ_ﬁﬁﬁwgﬁf:

1. (a) 31 (b)
2. (b), (c) 3 (d)
3. (c) 3 (d)
4. (a), (b) 3 (d)

Options:

SaooeZllezes 1
SBIee2116270. 2
SBE3EE2116271. 3
SBIBE2116272. 4

Question Number : 94 Question 1d : 38386229824 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the methods of determining cost
behaviour?

a) High and low point method
b) Least square regression method
c) Accounting or analytical approach

d) Non - parametric method
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Question Number : 94 Question 1d : 38386229824 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFrafafad # ¥ o arid eadeR Feulid o3 o it € 2
(a) 3 3R " fdg ugfa

(b) g™ & UfavHH gsfa

(c) TEid- g1 [AeeiNunad P&

(d) TR-AUGS uSfd

it f&u 7Y fasedl & ¥ gl faeed I :

1. (a), (b) 3R (d)
2. (@), () 3R (d)
3. (b), (¢) 3R (d)
4. (a), (b) 3 (¢)

Options:

SB38E2116273. 1
SB38E2116274 2
SB38E2116275 3
SBEIEE2116276. 4

Question Number : 95 Question 1d : 38386229825 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which two of the following statements are correct?

a) In the short - run, A TFC = 0, therefore A TC = A TVC

b) If decrease in AFC < increase in AVC, then AC decreases

c) If decrease in AFC = increase in AVC, AC remains constant

d) if decrease in AFC > increase in AVC, then AC increases
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SB3EEZ116280. 4

Question Number : 95 Question Id : 38386229825 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFrafafed H 9 SH U Sl HYT UEI § 2

(a) HTUDTA H, ATFC= 0, Al ATC = A TVC

(b) 3R AFC H &I < Avc Hglg, Al AcH i gid 8
(o) Tfe AFC § &l = ave H gfg, Ac R BT

(d) afc AFc HBH! > ave Hgig, dl Ac H gf< gidl B
el ey 9 -

Options:

SEIBE2116277. 1
SB3BE2116278. 2
SBE3862116279. 3
JEIEE2116280. 4

Question Number : 96 Question Id : 38386229826 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which two of the following statements are true? 'repp
a) A simple monopoly firm always earns super normal profit

b) Sweezy's kinked demand curve model is the best known
model explaining relatively more satisfactory behaviour of
oligopoly firm for price rigidity

c) A perfectly competitive firm is price - taker

d) Firms under monopolistic competition earn only normal
profits

Choose the correct option from those below

1. a) and d)
2. b) and d)
3.b) and ¢)
4. a) and c)

Options:

JEZEE2116281. 1
JEIEE2116282. 2
Sooae2llezZa3s. 2
Sasee2l16284. 4

Question Number : 96 Question Id : 38386229826 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e SR U YT T8l & 2
(a) U FIYRU TSGR B gad Hfaqm=g ar Afold axdi el

(b) ol & fdoh AT 9h HISd HIHd SRl & oY TigER
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949y F1d qisd gl

() gut ufaegslf wH Siad o+ arer g

(d) THIIBTNG UfdegH] & Sidiid BH dbad gHrg ary Ifeid
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Question Number : 97 Question Id : 38386229827 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements are correct?

a) Dividend payout ratio refers to that portion of total earnings
which is distributed among equity shareholders of the company

b) ' Bird in hand' argument is given by Gordon's model

c) MM model suggest that dividend payment is very relevant for
value of the firm

d) Walter's Model suggests that dividend payment does not
affect the market price of the share

1. a) and b)
2.a) and c)
3.b) and ¢
4, ¢) and d)

Options:

SBIBE2116285 1
SBZEE2116286. 2
SB3EE2116287. 3
SBE3862116288. 4

Question Number : 97 Question 1d : 38386229827 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TTHTR YT U1 S IUI6H & 39 G &1 Sooid &l o
Sl U1 o 3fed] TR YRl & w9 [qaid {1 Id1 g1

(b) 8 31 aUS' dP Mo Aled gl fdl Tl gl

(c) TH U Hisd a4 ol & & ar4isl &1 Y ®H &1 ufasi &
feTe dgd URifS B

(d) diceX Higd YATd ¢dl & b A= YT R & SR el
@l UHITdd -Tal Bl o

ﬂ’EﬁﬁWﬂef

1. (a) 3R (h)
2. (a) 3 ()
3. (b) 3R ()
4. (c) 3R (d)

Options:

JEZEE2116285 1
JEZEE211628E. 2
Sooae2llezar. 2
SBI8E2116288. 4

Question Number : 98 Question Id : 38386229828 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are true?
a) Pay - back period method considers all cash flows of a project

b) Pay - back period method concerns more with the recovery of
cost than profitability

c) Net Present Value represents net addition to the wealth of
shareholders

d) Accounting Rate of Return method incorporates risk as well as
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SB3EEZ116292 4

Question Number : 98 Question Id : 38386229828 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Faftfad E Y S U YT T8I § 7

(a) Ipial 2afd gl # fodl uldieHn & gyt Addl gdig ®f
ToHET o o ordl &

(b) ebIdl 3afdl Ui SHUGdr B (U drTd ®f Rvast U 31fdd
TIPSR TGl &

() FIad axivH Jod IR URS & Yufd ¥ Had 9iS & cxiidi &

(d) Uit &l cieid- X § SiRad & 1Y-Try 4= o1 i 5o
NS el &

ﬂﬁﬁmﬂﬁ:

1. (a) 3R (h)
2. (a) 3R (d)
3. (b) 3R (g
4. (b) 3R (d)

Options:

SJBEIBE2116289 1
SB38E2116290. 2
SJE3862116291. =2
JEIEE2116292. 4

Question Number : 99 Question Id : 38386229829 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following statements are true? 'repp

a) Transaction exposure is inherent in all foreign currencies
denominated contractual transactions

b) Translation exposure relates to the change in accounting
income and balance sheet statements caused by change in
exchange rate

) Economic exposure has an impact on the valuation of a firm

d) Operating exposure does not have any impact on the firm’s
future operating revenues or future operating costs

Choose the correct option from those below:

1. a) and b) only
2. b) and ¢ only
3. b) and d) only
4. a), b) and c) only

Options:

Saooe2llezaz 1
SBsee2116294 2
SBE3EE2116295 3
SBEIEE2116296. 4

Question Number : 99 Question 1d : 38386229829 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FaffEd f S U YA T8I 5 7

(a) T & TaaieR uHt faezl ge1 goifed dfagra aa e |
FaHed sl &

(b) I TR fafHag &X & uRdd- & SRU dEia -
qo-13 fgarof & uRad" 9 Sefia &

() 3N TaguoR T B & Heuid- &1 UHE 8idl &
(d) WEITeH UaHUeR &1 1 & Hid! U=ia-F1d e+ g1 Hidt
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SEZ86Z2116234. 2
SEZ86Z2116235. =
SBE3BEZ116236. 4
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Question Number : 100 Question Id : 38386229830 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which two of the following measures of central tendency are
MNOT capable of algebraic treatment?

a) Geometric Mean

b) Median

c) Arithmetic Mean

d) Mode

e) Harmonic Mean

Choose the correct answer from the options given below:

1. a) and b)
2.d) and g€)
3. b) and d)
4. ¢) and e)

Options:

SB38E2116297 1
SB38E2116298. 2
SBE3862116299. 3
SJE3EE2116300, 4

Question Number : 100 Question Id : 38386229830 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) SIS A1l
(b) HITEIHT
(c) BT g1

(d) dgdid
(e) glHD HI
H_Eﬁﬁw?ff:

1. (a) 31 (b)
2. (d) 3R (e)
3. (b) 3R (d)
4. (c) 3R ()

Options:

SB38E2116297 1
SB38E2116298. 2
SBEZEE2116299 3
SJE3EE2116300, 4

Question Number : 101 Question Id : 38386229831 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which two of the following statements are true? 'repp
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a) The sum of the deviations from mean (ignoring algebraic
signs) is greater than the sum of the deviations from median
(ignoring algebraic signs)

b) Standard deviation is independent of change of origin and
change of scale

c) In a symmetrical distribution, mean deviation equals 4/5 of
standard deviation

d) In a symmetrical and bell shaped distribution, quartile
deviation is 1/3 of standard deviation

Choose the correct answer from the options given below

1. b) and d)
2.a) and c)
3.c) and d)
4. a) and b)

Options:

SJBEZEE2116301. 1
SBEIEE2116302. 2
IJE3EE2116303 2
JEZEE2116304 4

Question Number : 101 Question Id : 38386229831 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) T1¥ ¥ fa=ad &1 9 @ik fos IR @9 9 ¢d g9)
Tifere § faga & am ¥ &ifie a1 § @it g ™
& 7 &d §9)

(b) U faeH I¢d & uRady iR T9H & uRad- 9 gad sial
g

(c) AT faaur § 7ren fage uHIite faga- @1 4/5 5l &

(d) THIAT 3R g1 faarun & 9quiy faga wmitie faaad &1
1/38Id18

Eﬁﬁﬁ?ﬁ?ﬁ?ﬁf:

1. (b) 3R (d)
2. (a) 3R ()
3. (c) 3R (d)
4. (a) 31X (b)

Options:

SasoeZllez01. 1
SBsee2116302. 2
SBEIEE2116303. 3
SB38E2116304 4

Question Number : 102 Question 1d : 38386229832 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which two of the following statements are true? 'repp
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a) Skewness studies the flatness or peakedness of the
distribution

b) A positively skewed distribution curve is stretched more to the
right than to the left

c) On the basis of empirical relationship between mean, mode
and median for moderately asymmetrical distribution, Karl
Pearson's coefficient of skewness can be measured by 3 (Mean -
Median) divided by Standard Deviation

d) If mean < mode, the distribution is positively skewed
Choose the correct option from those below:

1. a) and b)
2.b) and ¢
3.c) and d)
4. b) and d)

Options:

SJBEIBEZ2116305 1
SBEIEE2116306. 2
IJE3EE2116307. 2
JEZEE2116308. 4

Question Number : 102 Question Id : 38386229832 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3R Hf4F B B

() TOd HfHd faavul & oy Hre, dgds iR Hifeis] @ |
HAHAG] HdeR & SMYR UR Sl [0 fausdl i &l J1e-
3 (1% - HIfe®T) Bl HHI0G fage §RT HFT ¢HR |l o Yl

|
(d) Tfc | < 9gad & o [daRvl U4TdHS &4 4 [d9H gidl g1
ﬂ_ﬁﬁﬁwgﬁf:

1. (a) 31 (b)
2. (b) 3R (¢)
3. (c) 3R (d)
4. (b) 3R (d)

Options:

SasoeZllez305 1
SBI8E2116306. 2
SB38E2116307. 3
SBE38E2116308. 4

Question Number : 103 Question 1d : 38386229833 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following types of authorities are found in most
organizations?

a) Division Authority
b) Line Authaority
c) Staff Authority

d) Functional Authority
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Question Number : 103 Question 1d : 38386229833 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

G TBAI A I VPR & WAGR UA Sd & 2

1. ®ad (a) 3R (b)
2. &ad (b) 31X ()
3. ®ad (a), (b) 3R ()
4. ®ad (b), (c) 3R (d)

Options:

SB3862116309. 1
SBZ8E2116310. 2
SB38E2116311. 3
SBE3862116312. 4

Question Number : 104 Question 1d : 38386229834 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The theories that explain the formation of 'Informal Groups' are
to include which of the following?

a) Propinquity Theory
b) Similarity (or) Balance Theory

c) Displacement Theory
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Question Number : 104 Question Id : 38386229834 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“3HIEIRG THE * BT HH0 H- & ogred o ard, fagid J
frafeRaa # 9 forg anire foogr wrar g2

(a) TRl &1 Fagid

(b) THMCT 3Ydl Yo &1 aaid
(c) oo &1 Rigid

(d) SUcsl BT ATaghdl HI Fgid
el fadey g -

1. ®ad (a) 3R (d)

2. &ad (a) AR (b)

3. ®ad (a), (b) 3R (o)
4. @), (b), () 3R (d)

Options:

SaooeZllez13 1
Sasee2l16314 2
SB38E2116315 3
SBZ8E2116316. 4

Question Number : 105 Question 1d : 38386229835 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Functions of a first-level or front line supervisors are to include 'repp

which of the following?

a) To determine individual job assignment

b) To attend to grievances and resolve conflicts

c) To provide technical knowledge and guidance to workers

d) To supply strategic information relating to production to
management

Choose the correct answer from the options given below

1. a) and b) only

2. a) and c) only

3. a), b) and ¢) only

4. All of them - a), b), ¢}, and d)

Options:

SJBEZEE2116317. 1
SB38E2116318. 2
SJE3862116319. =2
JEIEE2116320. 4

Question Number : 105 Question Id : 38386229835 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UUH TR 1 Ugall Ufdd & Ued & el § Fafafad 3 § fod
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Question Number : 106 Question Id : 38386229836 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MNon - Banking Financial Companies can be classified as:
a) Asset Finance Company (AFC)

b) Investment Company (IC)

c) Loan Company (LC)

d) Foreign Trade Company (FTC)

Choose the correct answer from the options given below:

1. a), b) and c) only
2. b), ¢) and d) only
3. a), ¢) and d) only
4. a), b) and d) only

Options:

JE3862116321. 1
JEIEE2116322. 2
SB3862116323. 2
SB38E2116324 4

Question Number : 106 Question Id : 38386229836 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R - dfdh1 o<t wufgl o1 fod $u F Feifed favar o Yoar g -
(a) AR fad Ha-l (AFQ)

(b) FE® &UA (10)

(c) B BT (LC)

(d) faesi &R U (FTC)

H_Eﬁﬁw?ff
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Question Number : 107 Question Id : 38386229837 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which three of the following types of cyber attacks may occur in
the process of mobile banking?

a) Backdoor attack

b) Front door attack

c) Denial of service attack

d) Direct access attack

Choose the correct option from those given below:

1.a), b) and ¢)
2. b), ¢) and d)
3. a), b) and d)
4. a), c) and d)

Options:

SJEIEE2116325 1
SBIEE2116326. 2
JE3EE2116327. 2
JEZEE2116328. 4

Question Number : 107 Question Id : 38386229837 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
qiaEd dfd ufcbar § fAgfifad O 9 & 3 UeR & 9Ea
3CH Bl U § ?

(a) SBHSR 3HedH
(b) TheSR 3AH
(c) Yal B-Te] 3




Options:

SJBEIEE2116325 1 v
JE38E2116326. 2

JEIEE2116327. 2

SB3862116328. 4
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Question Number : 108 Question Id : 38386229838 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Michael Porter proposed generic strategies that provide good
starting points for strategic thinking. Identify them from the
below mentioned strategies

a) Overall cost leadership

b) Innovation

) Focus

d) Differentiation

Choose the correct answer from the options given below

1. a) and b) only

2. a), ¢) and d) only

3. a), b) and d) only

4. All of these - a), b), ¢) and d)

Options:

SJBEIEE2116329 1
SB38E2116330. 2
SJE3EE2116321. =2
JEZEE2116332. 4

Question Number : 108 Question Id : 38386229838 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) T99 AT A
(b) TAFHY

() BIHH

(d) fadea

el fddey 9 :

1. &ad (a) AR (b)

2. ®ad (a), (c) 3R (d)

3, ®ad (a), (b) AR (d)

4. S0 G4t (a), (b), () 3R (d)

Options:

SJBEIEE2116329 1
SB38E2116330. 2
SJE3EE2116321. =2
JEZEE2116332. 4

Question Number : 109 Question Id : 38386229839 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements, one labelled as Assertion (A)
and the other labelled as Reason (R).

Assertion (A): Auto companies and other consumer goods
companies offer cash rebates to encourage purchase of the
manufacturer's products within a specified period

Reason (R): The same product is priced differently at different
times

In the context of the two statements above related to pricing
strategy, which one of the following options is correct?
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Question Number : 109 Question Id : 38386229839 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HIYDUA (A) : 3l DUHET 3R 3 IuHiddl 9% dulai Ay
3afyl & Hier faffia e & Uy &1 uifed & & o T
J¢ P UNDHY B 6|

d® (R) : GHM IUIG DI SCHT -3 THY U 3T - 3{eiT Hedildd
forar ST 8|

SUddd aiFl vyl & dod § @ iad My sriHifG & gy o
fFrafeiaa o 9 @ W ois el 6 2

1. (A) 3R (R) TFI T T

2. (A) AR (R) &I eI el g
3. (A) Tel &, fod (R) el T51 B
4. () GEI 181 &, T (R) WET B

Options:

SJBEIBEZ2116333 1
SJE38621163324 2
JEIEE2116335 2
Soooe2lle306. 4

Question Number : 110 Question Id : 38386229840 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Sale of Goods Act, which two of the following are
defined as 'goods'?

a) Moveable property
b) Growing crops

¢) Actionable claims
d) Book debt

Choose the correct answer from the following options:

s - '] B
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Question Number : 110 Question Id : 38386229840 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a¥gail @i faepl ¥ e & SR Fufafed § 4 oY & 9% 3u
H gy fbar T g 2

(a) 9@ HUTd

(b) 3T B

(c) PRATS A7 GId

(d) T SB0T
frafefad 5 9 98t SR g

1. (a) 31 (d)
2. (b) 3R (¢)
3, (a) 3R (h)
4. (d) 3R (b)

Options:

SB3862116337. 1
SB38E2116338. 2
SB3EE2116339. 3
SJE3E62116340 4

Question Number : 111 Question Id : 38386229841 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are true about conditions according to
the Sale of Goods Act?

a) Title
b) Description

c) Quite possession

| E R — 'l
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Question Number : 111 Question Id : 38386229841 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
a¥gail @i ! o & SUR SFd! 36l Fofaiaa o O gal
g7

(a) 8P

(b) fagor

(c) fafTe riHa

(d) BUHR
fraferied # 9 9gl g g -

1. ®ad (a) 3R (d)
2. %ad (b) 3R ()
3. Had (a), () 3R (d)
4. &dd (a) 3N (b)

Options:

JE3E62116341. 1
JEZEE2116342. 2
Sooae2lle343 2
Sasae2116344 4

Question Number : 112 Question Id : 38386229842 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Who are the parties to a cheque? 'repp
a) Drawer
b) Payee

c) Acceptor
d) Holder
Choose the correct answer from the following options:

1. a) and b) only

2. a), b) and d) only

3. a) and c) only

4. All of these - a), b), ¢) and d)

Options:

JBE3862116345 1
JE3862116346. 2
JEZEE2116347 2
SB3862116348. 4

Question Number : 112 Question Id : 38386229842 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e i dde P UsPR BH UG ?
(a) STEXD

(b) SATGTaT

(c) ATel

(d) YRdy

fraferad = 9 ugl IR 9+ -

1. ®ad (a) 3R (b)
2. ®ad (a), (b) 3R (d)
3. Had (a) AR (o)

A oy by ety ey e
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Correct Marks: 2 Wrong Marks: 0 'repp
Which two of the following are correct about TDS Certificates? e
a) TDS on non-salary payment - Form 16

b) TDS on salary payment - Form 16 A

c) TDS on sale of property - Form 16 B

d) TDS on rent - Form 16 C

Choose the correct option from those given below

1.a) and b)
2. c) and d)
3. a) and d)
4. b) and ¢

Options:
SE3EB2116349. 1
Saoae2lle3s0, 2

SB3B862116351. =
SE38EZ2116352. 4

Question Number : 113 Question Id : 38386229843 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SISTey vH U & IR H Fafifed § 4 oM <l 9gi 2
(a) TR - da- YT | IS BT 16

(b) T YA W ST BTH 16 A

(c) Hufi ashe W= EISiey B 16 B

(d) foe R EAETT B 16 C

el faded 9 -

1. (a) 31 (b)
2. (c) 3R (d)
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Question Number : 114 Question Id : 38386229844 Question Type: MCQ Option Shuffling : No Display Quest WY
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

Which two of the following are correct in terms of rate of tax
deduction at source (TDS)?

a) Income by way of winning from horse race: @ 30%
b) Insurance Commission: @ 10%

c) Rent of Plant & Machinery: @ 5%

d) Rent of furniture: @ 5%

Choose the correct option from the following:

1. a) and b)
2.a) and c)
3. a) and d)
4. b) and c)

Options:
SB3862116353. 1
SB386E2116354 2

SE386Z2116355. =
SEZ86Z116356. 4

Question Number : 114 Question Id : 38386229844 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Wid WaR Held Bl e & Yy & Fofad d derd a 9gl &

(a) 9T B ¥ Siid- 9 UId 34 @ 30%
(b) dTHT HHITH @ 10%

(c) i 3R A8 &1 favmn @ 5%
(d) TR @ fderEl @ 5%

el fadey 9 -
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Question Number : 115 Question Id : 38386229845 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which two of the following are correct about the due date of
issue of the TDS certificate?

a) Form No 16 - Annual

b) Form No 16 A - Quarterly

c) Form No 16 B - Half Yearly

d) Form No 16 C - Monthly

Choose the correct option from those below:

1. a) and d)
2.a) and c)
3. a) and b)
4. ¢) and d)

Options:

SJBIBE2116357. 1
SB386E2116358. 2
JE3862116359 2
JEZEE2116360. 4

Question Number : 115 Question Id : 38386229845 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frofaiad & ¥ ®H ¢l Sty UHm 03 oRl o3 ol il & e

Helg?
(a) BTH 4. 16 - AlftD
(b) BT . 16 A - T

(c) B H. 16 B - Helaite
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Options: '
SJBIBE2116357. 1 Your

SEZ86Z2116358. 2
SEZ86Z116353. =
SBE3BeZ116z360. 4

repp
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Question Number : 116 Question Id : 38386229846 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List | with List Il

List | List I

a) Size of the market
) i) Globalization of business

b) Demographic environment  |ii) Foreign trade policy

c) Export - oriented units iii) Macro - environment

— . iv) Non - economic
d) Multinational corporations :
environment

Choose the correct option from those given below

1.a) - iv); b) - ii); ©) -iii); d) - 1)
2. a) - ii); b) -iii}; ©) - i), d) - i)
3. a) - iii); b) - ii); ) - i); d) - iv)
4, a) -iii); b) - iv); ) - i) d) - 1)

Options:

SaooeZllezel. 1
Sasae2lle3e2. 2
SB3EE2116363. 3
SBZ8E2116364. 4

Question Number : 116 Question Id : 38386229846 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



%V'-pfe%%\%ﬂ- | & 1Y Hferd I : 'repp
i - | - 1

(a) ITUIR B AHR (i) SHGURI 1 At
(b) SHiReTe! ey (i) facw soR fifg
() Faid - Sep@ gfe (i) WA - R
(d) Sgx1Pa e (iv) TR - 2 araraRo
i feu U fasedi o 4 Tl f[dbed ol 994 34 ;

1. (a) - (iv). (b) - (i), (<) - (iii). (d) - (i)
2. (@) - (ii), (b) - (i), (c) - (i), (d) - (V)
3. (@) - (ifi), (b) - (ii), (<) - (i), (d) - (V)
4. (@) - (iii). (b) - (v}, (<) - (ii). (d) - (i)

Options:

SBsee2116361. 1
SBZ8E2116362. 2
SBE3862116363. 3
JE3862116364. 4

Question Number : 117 Question Id : 38386229847 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List | with List Il

List I List Il

a) Qualified Report i) Auditor Duty

b) Examine Valuation and Disclosure ii? Aljlfjimr
Liabilities

c) Access to records of Company and its i) Auditor

subsidiaries Report

d) Mis-statement in prospectus in company iv) Auditor

issue of capital Right

Choose the correct option from those given below

1. a) -ii); b) - i); ©) - iv); d) - iii)
2. a) - iii); b) - i); ¢) - iv); d) - i)
F o=y ot B o e e - e A oy
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Question Number : 117 Question Id : 38386229847 Question Type: MCQ Option Shuffling : No Display QuesirlmppY
Single Line Question Option : No Option Orientation : Vertical oure

Correct Marks: 2 WrongMarks: 0

Yl - | 7 €118 Hal &l Yl - 1 a1y o &

Il - | Il - i

(i) THRET TI&® Bl
(a) 3o RUie e

(b) Hed [4R0r 3R Uebed &1 o &A1 {ii}ﬁa@qﬂwﬁﬁ

(c) HUAT 3R TSB! ATl & HRRE! (i) ST Ula &

ersonal Exams Guide

dd Ugd feare

(d) Uoll (7T & HU-l &I ARSI H |(1v) T8 e &I
T ST PR

- feu Tt fasedl o § gel fadbed - -

1. (@) - (i), (b) - (i) (c) - (iv), (d) - (iii)
2. (@) - (iii). (b) - (i), (c) - (iv). (d) - (i)
3. () - (iii), (b) - (i), (c) - (i), (d) - (iv)
4. (a) - (iv), (b) - (i), (c} - (i), (d) - (i)

Options:

SaooeZllezes 1
SB3ee21l16366. 2
SB38E2116367. 3
SB38E2116368. 4

Question Number : 118 Question 1d : 38386229848 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the following theories of profit with their propounders

Theory Propounder
a) Profit as Rent of Ability ]
i) F. B. Hawley
i) J h A
b) Dynamic Theory of Profit 1) e
Schumpeter
c) Risk Theory of Profit iii) J. B. Clark
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Question Number : 118 Question Id : 38386229848 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafad am & fsidl & 39d ufaugs! & 9y Jafed &Y -

G PIGLIFES

(a) T grgar & =g @y RIgid () U. 9l s1a

(b) 1Y &1 TTfd=ierar Rregia (if) S U, grdier
(c) TTY I Wity RaEid (iii) ©f. &Y, TP

(d) TTY BT a4y faeid (iv) U, T, 9T

- feu e faswedl o © 9el fadbed - -

1. (@) - (iv), (b) - (i), (¢} - i), (d) - (i)
2. (@) - (i), (b) - (i), (c) - iii). (d) - (V)
3. (@) - (i), (b) - (i), (<) - (i), (d) - (i)
4. (a) - (iii), (b) - (i), (c) - (i), (d) - (iv)

Options:

SEZEEZ2116569. 1
SB38e2116370. 2
SB38E2116371. 3
SB3BE2116372. 4

Question Number : 119 Question 1d : 38386229849 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Match the following methods of capital budgeting with their 'repp
respective formula: our persona .

Method
Formula

a) ARR method i) Present Value of Cash Inflows -
Present Value of Cash Outflows

i) P t Val f Cash
b) Pay back Period ) T BEEaS

Method

Inflows = Present Value of Cash
Outflows

iii) Average Income <+ Average
c) NPV Method ) 9 9
Investment

d) Probability Index iv) Investment + Annual Cash Inflows

Choose the correct option from those given below:

1. a) - iii); b) - i); ¢) - iv); d) - ii)
2.a) -iii); b) - iv); ©) - i); d) - i)
3.a) - i) b) -ii); ) -iii); d) - iv)
4. a) - i); b) - iv); ) - ii); d) - i)

Options:

SJBEIBEZ2116373 1
SB38E2116374 2
JE38E2116375 2
JEZEE211637E. 4

Question Number : 119 Question Id : 38386229849 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gﬁﬁ%ﬁ%ﬁﬂﬂﬁﬁﬂﬁ@ﬁﬂ&ﬁﬁﬁ 30 Hefid Tl & 91y prepp
g@REe: e

Uid REl

@UAR AR  |() TPHal daig BT audH Jod - 7dal digdis
Usid @1 a0HH ol

(b) IDIch &l |(ii) APl siqdle &I axidH o4 + Add] digals
Ugld 1 goqH Jcd

(o) T g dt ufa (i) 3frad 3mg + 3igd Faw

(@ T | P - i
: (iv) . ECTAR G

el ToU Taeed 7 8 98 aded 9

1. (@) - (i), (b) - (i), (c) - (iv), (d) - (i)
2. (@) - (i), (b) - (iv), (<) - (i), (d) - (ii)
3. (@) - (i), (b) - (i), (c) - (iii). (d) - (V)
4. (@) - (i), (b) - (iv), (c) - (ii), (d) - (iii)

Options:

JEZEE21163732 1
JEIEE2116374 2
Seoae2lle37s. 2
SB38E2116376. 4

Question Number : 120 Question Id : 38386229850 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the tests with suitable situations of their application for 'rep

Your Personal Exams Guide

hypothesis-testing:

Test Situation

a) z-test ) Comparing the differences in the mean
values of more than two sample groups
(Parametric data)

b) ANOVA i) Testing the significance of the
difference between averages of two large

sized sample groups (Parametric data)

c) Chi-Square Test i) Comparing the differences in the
mean values of more than two sample
groups (Non - parametric data)

d) Kruskal - Wallis

iv) Testing the significance of the
Test

association between two attributes

Choose the correct option from those given below

1. a) - i); b) - ii); ©) - iii); d) - iv)
2.a) -ii); b) - 0); ©) - iv); d) - i)
3.a) -ii) b) -iii); &) - i) d) - iv)
4. a) - 1); b) - iv); ¢} - ii); d) - i)

Options:

SJBEIBE2116377. 1
SB3862116378. 2
JEIEE2116379 2
Sosoe2lleza0, 4

Question Number : 120 Question Id : 38386229850 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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TRIE0T o ToT0 Ti&UT 1 3! Waigdl & UG Prepp
S VUi
Erital Ry

(i) & ° 1T ufcesl wHgl & oiud 50  ofa)
(@) SIS - TRI&0 @Bt el BT (TP SIe)
T (ii) &I 985G ATPR & Uidex Ul & Audi &
] ad & 3R] B TI& BT
(c) DTS WIR (i) &I § 21 ufoes] vael & ofigd geat d
Ipitall Rl BT a1 B (R - Uil S1el)
(d) b - (iv) &I 70T & oTd & igdd &1 grdddl &1
GIREARERIt 1y MRt 1

1. (@) - (@) (B) - (iD), (c) - (i), (d) - (iv)
2. (@) - (ii), (b) - (i), (c) - (iv). (d) - (iii)
3. (@) - (ii), (b) - (i), (c) - (i), (d) - (V)
4. (a) - (i), (B) - (iv), (c) - (i), (d) - (iii)

Options:

Saoee2llez3rr 1
SB38E2116378. 2
SBIEEZ2116379 3
SB38E2116380. 4

Question Number : 121 Question 1d : 38386229851 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the 'Category of Compensation’ with '‘Compensation Plan’

(Category of Compensation) (Compensation Plan)
a) Pay for time not worked i) Savings Plan

b) Services and Perquisites ii) Stock Option

c) Protection Programme iii) Pension

d) Incentive Pay iv) Sick Leave

e) Deferred Pay v) Low Cost Meals

Choose the correct option from those given below
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SE38E2116384. 4

Question Number : 121 Question Id : 38386229851 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gfagfd @1 Soft: &I aifagfd FieET o 9y gk $2

gifagfd @1 9ot afferafd gt

(a) P A PU UGG HTdad (i) F9d giol

(b) HaTY 3R gRafs (i) ¥T& faded

() TaeH BriHH OEEE

(d) UIcaTe da- (iv) SRERIAT THIR
(e) STRIFT aH (v) BH e &1 HioH
ﬂﬁﬁfﬁﬂ?ﬁ:

1. (a) - (iii), (b) - (iv}, (c) - (i0), (d) - (i), (e} - (v)

3. (a) - (iv). (b) - (v}, (c) - (1), (d) - (i), (&) - (iii)

:| %

2. (a) - (iv), (b) - (v), (€} - (iii), (d) - (ii). () - (1)
) - (V).

4. (a) - (iii), (b) - (v}, () - (i), (d) - (i), (&) - (if)

Options:

JBEZEE2116381. 1
JE3EE2116382. 2
JEIEE2116383 2
SoooeZllezad 4

Question Number : 122 Question Id : 38386229852 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match the following Banking Sector reform committees with 'rep

Your Personal Exams Guide

their respective purposes:

Committee Purpose

a) Y.V. Reddy Committee i) Revised method of lending in
place of cash credit system

b) Rashid Jilani Committee |ii) Rationalization of interest rate
on small savings

c) 5.M Kelkar Committee iii) Working capital lending norms

d) I. T Vaz Committee iv) Regional Rural Banks

Choose the correct option from those given below

1. a) - i), b) - ii), ©) - iii); d) - iv)
2.a) - ii); b) - i); ©) - iv); d) - i)
3.8) - b)-ii); ) -ii);d) - 1)
4. a) -ii); b) -iii); &) - iv); d) - 1)

Options:

SBZBE2116385 1
SBZ8E2116386. 2
SB38E2116387. 2
SBE3862116388. 4

Question Number : 122 Question 1d : 38386229852 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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dfehT1 &7 QYR Hfaal &f 31 Jdiid Iezal & 91y prepp

afafa EEAR

(a) a18. a1, S (i) TPl F50T YOl & I W IUR Bl
gffg e sl

{;i:r}g%ﬁa Al (i) BT Tdd IR AT & &1 Jlfadd [0l
g};;. TH. AP (iii) PTALE Ul 3R & &1 AHGs
ﬁ%‘%ﬂ%aaa (iv) &g T 5%

- feu Tt fasedl o § gel fadbed o -

1. (@) - (@) (B) - (iD), (c) - (i), (d) - (iv)
2. (@) - (ii), (b) - (i), (c) - (iv). (d) - (iii)
3. (@) - (i), (b) - (i), (<) - (ii), (d) - (i)
4. (a) - (i), (b) - (i), (c) - (i), (d) - (i)

Options:

SasoeZllezss 1
SBsee2lle386. 2
SB38E2116387. 2
SB38E2116388. 4

Question Number : 123 Question 1d : 38386229853 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the modes of communication in marketing and their
communication platforms

(Mode of Communication) (Communication Platform)
a) Advertising i) Blogs

b) Sales Promotion i) Brochures & Booklets

c) Word of mouth marketing  |iii) Sales meetings

d) Personal selling iv) Contests

Choose the correct option
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Question Number : 123 Question Id : 38386229853 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fauuH o YR Jrem| R 3% YdR Wb @) gHied B ;

TaR g1 TR ek

(a) fagm= (i) SANTH

(b) HeH THIEH (i) TR 9 Ud geicd
(c) 98 3T Ar3Y (iii) T Hidg

(d) SAfgaTTd fasg (i) AfqaifTamn

2 feu T et & © udl e 94

1. (@) - (ii), (b) - (i), (c) - (iv), (d) - (i)
2. (@) - (ii), (b) - (i), (c} - (i), (d) - (ii)
3. (a) - (i), (b) - (iii), (<) - (i), (d) - (i)
4. (@) - (iv), (b) - (i), (<) - (i), (d) - (i)

Options:

JBE3EE2116389. 1
IJE3862116390. 2
JEZEE2116391. 2
SB3862116392. 4

Question Number : 124 Question Id : 38386229854 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List | with List Il

List | List I

a) Transfer of ownership , .
i) Negotiable Instrument

b) Sale of goodwill after =
, : ii) Contract of sale of goods
dissolution

iii) Dissoluti A
c) Buy - back of securities E.'} Issolution ot partnersnip
irm

c N TR O e T o ARl 3+~ B e P s I S SR S i e e e e
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Question Number : 124 Question Id : 38386229854 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i - | B Yl - 11 & Gy GAferd sifore
Tl - | Il - 1l

(a) I BT SRl (i) TEhTH T
(i) ! B &5l
(b) faued & 15 URd ot fashl 5 W

(o) Wfayfaal S g gRIAGE o=l ((iii) USIGR! BRE &I
GIECED) faee

(d) G- 9 (iv) DUAT B RAR Yoit
ol [dded &l 994 Difer :

1. (@) - (ii), (b) - (i), (c) - (iv), (d) - (i)
2. (@) - (iii), (b) - (iv), (<) - (iD), (d) - (i)
3. (a) - (i), (b) - (i), (c} - (i), (d) - (iii)
4. (@) - (i), (b) - (i), (c) - (i), (d) - (v}

Options:

JE3E62116392 1
JEZEE2116394 2
Saoae2lle395. 2
SB3862116396. 4

Question Number : 125 Question Id : 38386229855 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following countries with the types of Double Taxation 'repp
Avoidance Agreement signed by India with them: : e

Country Type of Agreement

a)Austria i) Limited Agreement

b)Bahamas i) Comprehensive Agreements

c)Lebanon iii) Comprehensive Agreements/ Limited
Multilateral Agreement

d)5ri Lanka iv) Tax Information Exchange Agreement

Choose the correct option from those given below

1. a) - iv), b) - ii}; ©) - i); d) - iii)
2.a) -ii); b) - iv); ©) - i); d) - iii)
3.8) - b)-wv); Q) - d) - i)
4. a) - i); b) - ii); ¢} - iii); d) - iv)

Options:

SJBEIBE2116397. 1
SB38E2116398. 2
JE3862116399 2
IJEZEE2116400, 4

Question Number : 125 Question Id : 38386229855 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafafad o= @ YRd gR1 g%aiaiRd aled HUYH Td1d eI
& UDR & Y1y GHferd Hifer :

oal Al &1 ISR

(a) Siigan  |(i) Hfed gogiian

(b) S8HIY  |(ii) SAT0d FHAAT

(o) dadE (i) TUd W) it dguaia SHsiar
(d) T |(iv) B GaA1 fafea gasiar
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SR3862116400. 4

Question Number : 126 Question 1d : 38386229856 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which two of the following are the function of WTO

a) To facilitate the implementation, administration and operation
of trade agreement

b) To carry out periodic reviews of the trade policies of its
member countries

c) To assist in the establishment of a multilateral system of
payments

d) To promote international monetary cooperation
Choose the correct option from the following:

1. a) and d)
2.b) and ¢)
3.¢) and d)
4. a) and b)

Options:

SBs86e2116401. 1
SBZee2116402. 2
SB3EE2116403 3
SJE3862116404 4

Question Number : 126 Question Id : 38386229856 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Ul S AN UBH § ? rrepp

(a) STUR Gl & fhUI-aaH, YRINH IR YT &I Yo
Gl

(b) 30 YT ¢RI 1 AR Hifaaf &1 3afEd THiEm S|
() YT 1 U SgUaig JouIel ®IMUd & # Gedi S|
(d) 3P Hifsied YeuH Bl gl ol
frafeiad o 9 ugl 3R &1 984 &Y

1. (a) 31 (d)
2. (b) AR (¢)
3. (c) 3R (d)
4. (a) 3R (h)

Options:
2E38E2116401. 1

SBE3BEZ211640Z2. 2
SB3862116403. 5
SE3862116404. 4

Question Number : 127 Question 1d : 38386229857 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Following are the events which generally happen in the life of a
public limited company

a) Public issue of shares (IPQ)

b) Firm Incorporation

c) Preliminary expenditures

d) Issue of equity shares to promoters of the company

Choose the correct sequence (chronological order) of the events
from the options given below:
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Question Number : 127 Question Id : 38386229857 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=i g geAmhH 6T 7Y § Sl UHadl U Uisid [iids Hu-l &
oG Hgfcdgid g ?

(a) TR &1 WSS A (31501311

(b) WH @I AT

(c) URIF® 1

(d) DU & Uddd! ®I Ffeel TRl &1 e

- feu e fas et o § genrsif & Uel oy (@1 & S9N
GARCIGE 8

1.(@ —(b) — (c) —(d)
2.(b) = () —=(d) — (a)
3.(0 = (b) — (a) — (d)

4.(c) —(b) —(d) —(a)

Options:

SBI862116405 1
SBZee2116406. 2
SB38E2116407. 3
JE3862116408. 4

Question Number : 128 Question Id : 38386229858 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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In the case consumers’ equilibrium to be explained through an 'repp
ordinal approach, when there are two commodities with their o -
prices given and with limited income of the consumer, the

following information is required:

a) Price line/budget line

b) Indifference map

c) Point of tangency between IC and budget line
d) Equality of the slopes of IC and budget line

Arrange the information required in the correct sequence and
choose the right option from those below

1.b) = d)—a)—c)
z.bj—ra)—rd]—rcj
E.E}Hd]—rb}—rc]
4.3}—rb]—r{:}—rd}

Options:

SJBEZEE2116409 1
SBZ8e2116410 2
JE3862116411. =2
JEZEE2116412. 4

Question Number : 128 Question Id : 38386229858 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

39 giRufa & 99 &l 3% @1 3 718 BIHal SR SUHad i gl
T Hifhd HHHeH! & 91y B, 9l YIS PG & A1EH U Wy
feh U SiHdTe SuHiad dqe &f a=n | Hufafad Qar omféd g -

(a) DIF TS / FoIC Tl

(b) 3HTEEME OHERA

() 373, Ut 3R ol TIg4 & did Y& - fdg
(d) 317551, 3R g9ic a3 & gIal &f AT
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SBE3BEZ2116403. 1 '
SE3862116410. 2 Your
SE3862116411. =5
SEZ86211641Z2 4

repp
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Question Number : 129 Question Id : 38386229859 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following is the correct sequence of various
stages of operating cycle of a manufacturing company?

1. Raw material conversion period, work-in-progress conversion
period, Finished goods conversion period, Receivables
conversion period

2. Raw material conversion period, work-in-progress conversion
period, Creditors payment period, Receivables conversion
period

3. Creditor payment period, Raw material conversion period,
Receivables conversion period, work-in- progress conversion
period

4. Raw material conversion period, Finished goods conversion
period, work-in- progress conversion period, Receivables
conversion period

Options:

SBI8E2116413 1
SBZ8e2116414 2
SBZ86E2116415 3
JE3862116416. 4

Question Number : 129 Question Id : 38386229859 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafafad & 9 11 s fafaaio Ut & Udre- 9 & fafds 9on
&I ol SHH 6 7

1. @] HIe UREd Haf¥, 91 - S uRad afd, Affa amE
Ufkdad= afafdl, urw a¥q uidad safd

2. Tred] HIE URacH 3afe, 91 - B URda Hald, daR YaH
=R ET T = e e
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Question Number : 130 Question Id : 38386229860 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For calculating posterior probabilities (conditional probabilities
under statistical dependence), the following information is
available

a) conditional probabilities

b) original probability estimates (prior - probabilities) of
mutually exclusive and collectively exhaustive events

c) Arbitrary event with probability # 0 and for which conditional
probabilities are also known

d) Joint probabilities of prior probability and conditional
probability

Given the information that the arbitrary event has occurred,
arrange the above information in a sequence of their
requirement as per Baye's Theorem

Choose the correct option:

1.a)—=hb)—=d)—q
2.c)—=h)—=a)—=d
3.b) =) = d)— a)
4. b)—a)—d) —q

Options:

SBZEE2116417. 1
SBsee2116418. 2
SB386E2116419 3
SB3862116420. 4

Question Number : 130 Question 1d : 38386229860 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical
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Wigbarel ([@iRere i FRdl & sidvid gerd miaddre) ot prepp
mmﬁﬂaﬁqﬁgﬁ@awmg uuuuuuuuuuuuuuuuuuuuuu

(a) G2 Ui

(b) TR 30 AR Yfed $U Y YakTgul ge-1sf & g Uil
HIDH A (Ud - WD)

() Trefadd ge-1 &1 UIiadl = 0 3R s fau gwrd wifeant
SIRIGES

(d) Jd - WiiAddl 3R 2d Wiidddl $f Ygad Uik

=0 a1 @ ¢ gU (o aefese e ufed 81 78 &, Sudad
a1 &l di59] (Baye's) THY & YR D] 5%3d & HJpd &
HaRyd B

! faded &1 g o1 -

1.(a) = (b) = (d) = (q)
2. () = (b) = (a) = (d)
3.(b) = () = (d) = (a)
4.(b) = (a) = (d) = (q)

Options:

JEZEE2116417. 1
Soooe2lledls 2
SB3862116419. 2
SBZ8E2116420. 4

Question Number : 131 Question Id : 38386229861 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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What is the typical sequence in which the following selection 'rep

Your Personal Exams Guide

devices are used by the company?

a) Reference checks

b) Physical examination

c) Application Blank

d) Hire

e) Conditional Offers

f) More interviews

g) Screening interviews

h) Tests

Choose the correct answer from the options given below

l.g—=g)—+h—=f-a)—e—=Db)-d
2.d)=g)—=f)—=h)—-a)—e)=b)=d
3. =h)—=g)—a) - f)—e) =b)~>d)
4.d)—g)—=h) =1 —a)—-e)—=Db)=d

Options:

JB3862116421. 1
JEZEE2116422. 2
Soooe2lledzs 2
Sasae2lledz24d 4

Question Number : 131 Question Id : 38386229861 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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dE GHd 69 &1 & forad duHl gR1 Huieiad 9= uishang prepp

(a) GaY THIEUr AH-g @)
(b) TRIRD T&T

() ST D

(d) el

(e) TG B2

(f) 3R A TaTPR

(g) SHIFT WIETPR

(h) T1&foT

g fadey & 904 S :

l.cg—-h—+f-a—-e—-b-d
2.d—-g—-f-h—-a—-e-b-c
3.¢c—-h—-+g—-a—-f-e—-b-d
4. d-g—-h—-f—-a—-e—-b-d

Options:

Sasoezlledzl 1
Sasae2lledzz. 2
SBZEE2116423 3
SBZ8E2116424 4

Question Number : 132 Question 1d : 38386229862 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Arrange the following financial institutions in ascending order of 'repp
their year of establishment: : e

a) National Housing Bank

b) Export - Import Bank of India

c) NABARD

d) Unit Trust of India

Choose the correct option from those below

1.b) = d) = c) — a)
2.d)—=b)—a)—q
3.d)—=b)—=c) —a)
4.d)—=c)—=b)—a)

Options:
ZE3EE2116425. 1

SBE3BeZ21164z2E. 2
SE38EZ2116427. 5
SE38E2116425. 4

Question Number : 132 Question 1d : 38386229862 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafad fad gt & 396 WU & 9l & AR HH d
EiGIRIGGAIELE

(a) 3 3R dP
(b) TEUIE 3¢ I o Sfgar

1.(b) = (d) = () = (a)
AV Y e i
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Question Number : 133 Question Id : 38386229863 Question Type: MCQ Option Shuffling : No Display QuesirlmppY
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

Market logistic planning has the following four steps. Arrange
the steps in correct sequence

a) Develop operational excellence in sales forecasting,
warehouse management, transportation and material
management

b) Select the best channel design and network strategy for
reaching the customers

c) Implement the solution with the best information systems,
equipment, policies and procedures

d) Decide on company's value proposition to its customers
Select the correct option from those below

1.a) = hb) =) —=d)
2.d)—=b)—=a)—q
3.d)—=b)—c) - a)
4.d)—c) = b) — a)

Options:

SBZEE2116429 1
Sasee2116430. 2
SBZEE2116431. 3
SB3862116432. 4

Question Number : 133 Question 1d : 38386229863 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SR YdRcA el o HEIEGd IR @)1 5 | 34 @101 $I ol HH 'repp

(a) ToepT yfgsaml 99X 8199 UdyH, uRde 3R 9l udeq |
TfcpaTdHD IpPdl f[abild BT

(b) UTEDI db Ugd- o felY T dd (SIS 3R Hedd
DRI BT F9 BT

(c) AT =11 UUTell, SUpx ifcal iR ufdhanaft & 91y a1
@l AN BT

(d) 31U TR & Uid -l @1 Hod Wdra-1 W vl &A1
Yol [ddhed &l 99 difelt :

1.(@) = (B) = (¢ = (d)
2. (d) = (b) = (a) = (d)
3.(d) = (b) = (c) = (a)
4.(d) = (c) = (b) = ()

Options:

SaooeZ2lledzs 1
Sasee2116430. 2
SBZEE2116431. 3
SB38E2116432. 4

Question Number : 134 Question 1d : 38386229864 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is a void contract?

1. Unilateral contract

2. A contract which ceases to be enforceable by law
3. Implied contract

4, Express contract

Options:
SE3EB2116433 1

SEZBEZ116434. 2

Do 4 C A0
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A9 P g e g prepp
1. UhU&g Gidar
2. Ut wfger o 39 faff gy vad-g T8 21
3. US4 Gidal
4. 3Hf¥cad didar
Options:

SB3862116433. 1
SE3862116434. 2
SE38EZ211643%5. =
SEZ86Z2116436. 4

Question Number : 135 Question Id : 38386229865 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the steps to e-filing of Income Tax Return in correct
sequence:

a) Register yourself

b) Verify ITR V

c) Select the requisite form

d) Fill form and upload

Choose the correct option from those below:

1.a) = c)—=d)—=b)
2.8)—h)—=c)—=d
3.a)—=b)—=d)—q
4.¢) - a) = d) = b)

Options:

JBE3862116437. 1
JE3862116438. 2
Soooe2lleds9. 2
Sasae2116440, 4



www.pre

TR e 21 € - eferT & <Roit 91 ) 7 A STafm FIRIT prepp
(a) ST -HTID] Toligpd B

(b) 3118 31 3R df B Fafud Sifew

(c) MU T &1 98- Do

(d) U9A @i 4 3R AUds B

Hel [ddhed &1 98 DI :

1.(@) = () = (d) = (b)
2. (@) = (b) = () = (d)
3.(a) = (b) = (d) = (q)
4.(d) = (a) = (d) = (b)

Options:

JBE3862116437. 1
JE3862116438. 2
JEZEE2116439 2
Sasae2116440, 4

Question Number : 136 Question Id : 38386229866 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements. One is labelled as Assertion (A)
and the other is labelled as Reason (R).

Assertion (A): Indian Accounting Standards contain some ‘carve
outs’ and for convergence with IFRS with some changes applied
in India

Reason (R): Financial statements prepared in India with Indian
Accounting Standards will not be IFRS compliant

In the light of the above two statements, choose the correct
option

1. Both A) and R) are true and R) is the correct explanation of A)
2. Both A) and R) are true but R) is NOT the correct explanation
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Question Number : 136 Question Id : 38386229866 Question Type: MCQ Option Shuffling : No Display QuestiorNutibef <Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR PYE RN E - Y (A) AR TD (R) ;

HHHU (A) : YRS TGP TS H $& ‘B AT Bid &
HIR 3115 U 3R U & 91 0 & (oY YRd § $3 uRadd [du
EIGE]

% (R) : HRAG ohaid- AF®] @ YR IR HRd H aOR fdhd 1
ferciiar faamur 7 1S Uh R Ty &I 3ureH el gl

Sl YAl & 3MYR R I8! fAdey &1 99 Bifr ;

1. (A) 3R (R) TFI T8l § aYT (R), (A) DI He! ST &

2. (A) 3R (R) TIFI TGl § aYT (R), (A) DI U] ST ol 6
3. (A) T8 8, IR (R) 7o §

4. () 1 B, TRg (R) ¥e! B

Options:

Sas8e2116441. 1
SBZee2116442 2
SBZ8E2116443 3
SJE3862116444 4

Question Number : 137 Question Id : 38386229867 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements. One is labelled as Assertion (A)
and the other is labelled as Reason (R).

Assertion (A): In the case of short run cost behaviour, MC curve
intersects AC curve at its minimum

Reason (R): While AC continues to decrease, MC begins to rise.
Also, when AC is at its minimum, it is neither increasing nor
decreasing. It is constant when AC is constant, it is equal to MC
at the point of intersection

Choose the correct option from those below



www.prepp.in

383862116447, 3 prepp

SE3862116445. 4

Question Number : 137 Question Id : 38386229867 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-d &l By U TN B, Udh S (A) HHHYH B 9UT g3 HUH (R)
db & :

BT (A) : SfeTDIcD arTd oddeR &1 ufa & or 4t 9 wt
I% @I 3P I fdg W IR=ie &l 8l

% (R) : 91§ d® U Ul Uedl I8dl &, TH U 9T UM &dl ol 3R
oid Ut 31U HAqH TR W Bidi 6, g8 A di dgdl 5, 7 9edi 8 : 48
@R 31 ST g1 od U (R 3gd 8, dl 98 URwsc fdg e W o
R e RS I

Sudd AHHHYA (A) 3R T (R) & a9 H Ugl fadbed &1 984
ST :

1. (4) 3R (R) &HFI T8l & AR (R), (A) DI Tel AR

2. (A) 3R (R) TIHI TEI & 3R (R), (A) B! el 4R ol 8l
3. (A) Wel 8, IR (R) 7Teid g

4. (A) TTeTd ©, U (R) Wal &

Options:

SE3EEZ2116445 1
SaZae2lledde 2
SBZ8E2116447. 3
SB3862116448. 4

Question Number : 138 Question 1d : 38386229868 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Given below are two statements. One is labelled as Assertion (A) 'repp
and the other is labelled as Reason (R). B )

Assertion (A): If the firm is prepared to incur increased cost on
transportation, it may be in a position to reduce its inventory
cost

Reason (R) : As in such a case, the firm can use the fastest mode
of transport and rush the goods/stocks to the desired
warehouse, unmindful of the cost of transportation

In the context of the above two statements related to logistics
management, which of the following options is correct

1. Both A) and R) true and R) is the correct explanation of A)

2. Both A) and R) true but R) is NOT the correct explanation of A)
3. A) is true but R) is false

4. A) is false but R) is true

Options:

SB3862116449 1
SBZee2116450 2
SBZ86E2116451. 3
JE3862116452. 4

Question Number : 138 Question Id : 38386229868 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-Id &l By U TN B, Udh YA (A) HHHYH 8 qUT gHl HUH (R)
a5 5

YA (a) - OfE BIs B URaeT W 961 g3 aNld &I 3WTd &
o foIu daR g, di 98 Ul 3-4¢1 arTd &1 &H 3 o R J 8l
gl o

d (R) : T U FRufg © v ulvged & ey o9 a1d &l
SUART &R Yebdll 5 3R URdg & dFld &I U8 el &d gu
qifesd UISFIR d® 9HF/ ©id Ugdl ¥dbdl o

YUR o7 ey U Uefid Sudad &l Syl & U5 1 oA - 914!
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Question Number : 139 Question 1d : 38386229869 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements. One is labelled as Assertion (A)
and the other is labelled as Reason (R).

Assertion (A): Tax should not be charged on dividend income
from the shareholders

Reason (R) : Some economists are of the opinion that when tax
has already been paid on the profit of the company and balance
is distributed as dividend to the owners, tax need not be levied
on them

In the light of the above two statements, choose the correct
answer from the options given below

1. Both A) and R) true and R) is the correct explanation of A)

2. Both A) and R) true but R) is NOT the correct explanation of A)
3. A) is true but R) is false

4. A) is false but R) is true

Options:

JE38621164532 1
JEZEE2116454 2
SBZ862116455. 2
SBZ8E2116456. 4

Question Number : 139 Question Id : 38386229869 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SHTDHUT (A) : MR URD] T AU 319 TR TR UG ol a1 o1
difed|

dd (R) : PD MG B I © & o/d HU & Tl R a Bl
YITAH Ugd & a1 o 91 & SR Wit & avie & ©0 8 2y
¥ o faaRd fbar 1 g, df 39 R &R HIRkd & o 31
HIHdl el o

Sudad Gl HYHl & YR IR Ue [dded & 904 DI :

1. (A) 3R (R) GHI Ul § d4T (R), (A) B U ARAT Bl

2. (A) 3R (R) G T8l § 9T (R), (A) P Ua! SO gl &
3. (A) U8 B, ft (R) T B

4. (A) TTed B, i (R) el B

Options:

SJBZEE2116453 1
283862116454 2
JEZEE2116455 2
Soooe2lledse 4

Question Number : 140 Question Id : 38386229870 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements. One is labelled as Assertion (A)
and the other is labelled as Reason (R).

Assertion (A): Globalization refers to the free cross-border
movement of goods, services, capital, information and people

Reason (R) : Countries are consistently evolving innovative
marketing barriers that are WTO compatible

In the light of the above statements, choose the correct answer
from the options given below

1. Both A) and R) true and R) is the correct explanation of A)
2. Both A) and R) true but R) is NOT the correct explanation of A)
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Questions: No

Question Numbers: (141 to 145)
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Read the passage carefully and answer the questions that 'repp
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follow

Life Insurance in its modern form came to India from England in
the year 1818, The Oriental Life Insurance Company started by
Europeans in Calcutta was the first life insurance company on
Indian soil. All the insurance companies established during that
period were brought up with the purpose of looking after the
needs of the European community and Indian natives were not
being insured by these companies. However, later with the
efforts of eminent people like Babu Muttylal Seal, foreign
insurance companies started insuring Indian lives too. But Indian
lives were being treated as sub standard lives and heavy extra
premium were being charged upon them. The Bombay Mutual
Life Assurance Society heralded the birth of the first Indian life
insurance company in the year 1870 and covered Indian lives at
normal rates. Starting as an Indian enterprise with highly
patriotic motives, insurance companies came into existence to
carry the message of insurance and social security through
insurance to various sectors of society. In 1907, the Hindustan
Co-operative Insurance Company took birth in one of the rooms
of 'The Jorsanko', house of the great poet Rabindranath Tagore
in Calcutta. The Indian Mercantile, General Assurance and
Swadeshi Life (later Bombay Life) were some of the companies
established during the same period. Prior to 1912, India had no
legislation to regulate the insurance business. In the year 1912,
Life Insurance Companies Act and Provident Fund Act were
passed. The Life Insurance Companies Act, 1912 made it
necessary that the premium rate tables and periodical valuations
of companies should be certified by an actuary. But the Act
discriminated between foreign and Indian Companies on many
accounts, putting Indian Companies at a disadvantage

Sub questions

Question Number : 141 Question Id : 38386229872 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 142 Question 1d : 38386229873 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the correct statement from the following

1. Initially, insurance companies used to discriminate Indian and
European clients

2. There was no discrimination in Indian and European clients by
the insurance companies initially

3. Indian clients were charged lower premium by the insurance
companies in the beginning

4. Indian insurance companies charged higher premium to
Europeans at a later stage

Options:

SBs8e2116465 1
SBZee2lle4des. 2
SB3862116467. 3
JE3862116468. 4

Question Number : 143 Question Id : 38386229874 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one among the following grew along with insurance
business in India?

1. Pension Fund
2. Provident Fund
3. Gratuity

4. Arbitrage

Options:

SJEZEE2116469 1
SB38E2116470. 2
JE3862116471. =2
JEZEE2116472. 4
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the following?

1. Americans

2. Indian merchants
3. Europeans

4. Afro-Indians

Options:

JBE3E862116473 1
JE3862116474 2
Sooae2lledrs, 2
SB3862116476. 4

Question Number : 145 Question Id : 38386229876 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following was later renamed as Bombay Life?

1. The Indian Mercantile General Assurance
2. The Oriental Life Insurance Company

3. National Insurance

4. Swadeshi Life

Options:

SJBEIBE2116477. 1
SB38E2116478. 2
SJE3862116479 2
JEZEE2116480. 4

Question Id : 38386229871 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (141 to 145)
Cnaesticon Label | Comprehension
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Correct Marks: 2 Wrong Marks: 0 'repp
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Options:
SEZ3bE21164E5. 1
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SE38EZ2116467. 5
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Question Number : 143 Question 1d : 38386229874 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
SE3EB2116469. 1

SEZBEZ11E6470. 2
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Question Number : 144 Question Id : 38386229875 Question Type: MCQ Option Shuffling : No Display Question Number : Y
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Correct Marks: 2 WrongMarks: 0
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Question Number : 145 Question Id : 38386229876 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Sub-Section Number: 3
Sub-Section 1d: 3838621306
Question Shuffling Allowed : Yes

Question Id : 38386229877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (146 to 150)
Cuestion Label - Comprehension
Read the given passage carefully and answer the questions

that follow

Companies often define themselves in terms of products: They
are in the "auto business" or the "clothing business". 'Market
definitions of a business, however, describe the business as a
customer - satisfying process. Products are transient, basic needs
and customer groups endure forever. Transportation is a need:
the horse and carriage, automobile, railroad, airline, ship and
truck are products that meet the need. Viewing business in
terms of customers can suggest additional growth opportunities.
There exists a difference between a target market definition and
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Pepsi could define its 'target market’ as: '
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1. Everyone who drinks carbonated soft drinks and are
competitors

2. Anyone who drinks liquid

3. Everyone who drinks non-milk drinks

4. Anyone who drinks competitor's drinks

Options:

JB3862116481. 1
JE3862116482. 2
SoooeZ2lledss 2
Sasae2lleds4d. 4

Question Number : 147 Question Id : 38386229879 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is the correct market definition of "BPCL'?

1. We distribute oil products

2. We are the largest oil supply company in India
3. We supply energy

4. Bharat's own oil distribution company

Options:

SJEZEE2116485 1
SBZee2lle486. 2
SJE3862116487. 2
JEZEE2116488. 4

Question Number : 148 Question Id : 38386229880 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is the correct product definition of 'Blue
Star'?

1. We provide climate control in homes and offices
2. We supply air conditioners

3. We make air cooling systems

4. We make air conditioners
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Which of the following is NOT a major characteristic of a good '
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mission statement?

1. They have very limited words

2. They focus on a limited number of goals

3. They stress the company's major competitive spheres in which
company will operate

4. They have a long term view

Options:

Saooe2lledaz 1
Sasae21l16494 2
SB38E2116495 3
SBE38E2116496. 4

Question Number : 150 Question Id : 38386229882 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is the correct combination Product
Definition and Market Definition of Xerox Company?

1. Product Definition - We sell photocopies
Market Definition - We help improve office efficiency

2. Product Definition - We make photo machines
Market Defintion - We improve copy speeds

3. Product Definition - We sell copying equipment
Market Definition - We make office more efficient

4. Product Definition - We make copying equipment
Market Definition - We help improve office productivity

Options:

SB3862116497 1
SB386E2116498. 2
SE3862116499. 3
IJE3E62116500, 4

Question Id : 38386229877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
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FaffEd o ¥ 3 1 = ¥R S Yg! 3dre gRyTET 8 2

1. 89 R 3R Frafel # g deld UeH s3d &
2. BH U3R TR Pt 3MIfd Hd &

3. BH U3R Sfc Reed &41d &

4. BH U3R Ho¥R §41d §

Options:

SJBEZEE2116489 1
IJE3862116490 2
JEZEE2116491. 2
SB3862116492. 4
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Question Number : 150 Question 1d : 38386229882 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
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Correct Marks: 2 WrongMarks: 0
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